# JOHN WISDEN'S CRICKETERS' ALMANACK FOR 1905

EDITED BY SYDNEY H PARDON

## PUBLIC SCHOOL CRICKET.

By CAPT. W. J. SETON.

Before embarking upon the subject of this article, I would ask the readers of Wisden to permit me to pay a humble, but sincere tribute to the memory of my predecessor in this work, whose friendship I had the privilege of enjoying for thirty years. In the seventies, the prospect of a tutor in the holidays, usually so distasteful to a small boy at a private school, was a cause of pride and satisfaction to me, when I learned that the said tutor was actually the Cambridge Blue whom I had seen make top score for his 'Varsity at Lord's the previous year. From tutor and pupil, we became, in after years, fellow Incogs in many an enjoyable match, and later, fellow critics of the great game, for many seasons, in the Pavilion at Lord's. Throughout those years "Bill" Ford was always the same genial, hearty friend, and now, when looking on at matches at Lord's, there always seems something lacking, since he is no longer with us. In endeavouring to take up his work, where he was forced to leave it. I would ask my readers to extend to me more than the usual indulgence granted to beginners, as I am following one who combined mature judgment and sound criticism with a long and careful study of his subject, through many seasons.

The season of 1904 was undoubtedly the season of "records" for Public School Cricket. For a schoolboy to take part in county cricket throughout August, and head the first-class bowling analyses with a genuine analysis for nearly fifty wickets, as J. N. Crawford did, is a record that will probably stand even longer than Sir Emilius Bayley-Laurie's score for the Eton and Harrow match, now deprived of its pride of place after a reign of sixty-three years. Then the record number of runs made by a player in public school cricket no longer stands to the credit of Raphael, but is placed against the name of Tebbutt of Leys School, as is also a list of eight centuries in one season, a number that will probably not be exceeded until the squaring of the circle is accomplished, or an equally improbable event occurs-the advent of a second W. G. The Winchester XI. by going through the season without defeat and yet only achieving one victory also accomplished what I should imagine was an unprecedented performance, and one that entitles our oldest school to the first place among the Public Schools of the season.

The WINCHESTER XI. contained no less than five batsmen who had averages of over 35, four of whom were century makers, while every man in the team had a double figure average! Wright, Bruce, Teesdale, Gordon, and Evans, in their varying styles, were a formidable array of batsmen. Evans also assisted in the attack, the mainstay of which, however, was Younger, a medium-paced left-hander, who possessed the quality, unusual in schoolboy bowlers, of keeping up his length, undeterred by mistakes in the field, from which he was a considerable sufferer. Sergent also was a fast bowler of considerable promise, while Wright varied the nature of the attack, when he surrendered the gloves to a colleague, and put himself on with lobs, which occasionally got a wicket. Wright proved himself a thoroughly capable captain, and much of the success of the team should be attributed to his leadership, while as a wicket-keeper he reached a high standard of excellence. The performance of the eleven in defeating a very powerful Eton XI. by steady bowling and sound batting on the second day, after a very even first day's play, and their play against Haverford College, not to mention their avoidance of defeat in all their matches, entitles them to be considered the best eleven of the year, and the best that has represented Winchester for the last dozen years. There was only one department in which they fell short, and that was fielding, catches being missed, and matches in consequence drawn, instead of being won, but the longstanding reputation of Winchester fielding leads one to expect a higher standard in that department from their eleven than from those of other schools. It was in this very department, however, that ETON-Winchester's younger sister-excelled. Campbell, the captain, set his team an example of brilliance that was loyally followed, especially by Severne, who shares with his captain the distinction of being the best fieldsman of an excellent fielding side. This excellence in fielding was particularly noticeable during the long six hours' struggle, on the second day at Lord's, when Harrow was so doggedly striving to avoid defeat. In bowling, much was expected of Hatfeild after his meteor-like appearance in 1903, when, unknown to fame and the Eton XI. against Winchester, he secured his place for Lord's, and disposed of twelve Harrow wickets. Handicapped by a bad knee during the past season he played but little cricket before the Winchester match. and in that he could only bowl a couple of overs in the second innings. At Lord's, though not approaching his previous year's success, he did much to secure the victory of his side by steady bowling that took six wickets. Horlick proved himself another steady bowler, while Severne and Boles added to their usefulness by taking wickets as changes. Tod failed to come up to expectations. As, however, he captains the team next year, he will have another opportunity of reinstating himself as a bowler. In batting, the performance

of Boles at Lord's showed him to possess every quality of a fine batsman; self-restraint to an exceptional degree was exhibited for a considerable part of his innings, and then powers of hitting that must have been an unpleasing revelation to the wearied Harrow fieldsmen. His innings will cause his name to be handed down to all future generations of Etonians, but his reputation as the best bat in the Eton XI. was established before he confirmed it so amply at Lord's. Tod ably assisted Boles at Lord's, and is a really good bat, while Campbell showed his true form in the first innings against Winchester, though failing against Harrow, as did Astor, who, however, showed his powers of playing an uphill game by making more than half the runs scored in the second innings and carrying his bat against Winchester. Fairly and squarely beaten by Winchester, for no Etonian would suggest that Hatfeild's inability to bowl in the second innings was the cause of his school's defeat, the Eton XI. asserted themselves at Lord's, and proved themselves a far better side than their plucky opponents. Moreover, they were one of the two schools (Malvern being the other) who were equal to the task of defeating Haverford.

HARROW were an eleven that had misfortunes to contend with. previous to meeting an unusually strong side at Lord's. Dear as a victory over Harrow is to an Etonian, every Etonian, past and present, would have wished the eleven to meet the full strength of the School on the Hill, be the result what it may, and Eton's sympathy goes out to Harrow for the absence of her best allround player from Lord's, and to Rattigan himself for the sad fatality that caused that absence. Wet wickets early in the season, contrasting strongly with the nearly perfect wickets on which Winchester played their matches, renders comparison of averages unavailing. Bolton, however, can show an average of over thirty, without a not out innings, while his highest score of 64 was made in that disastrous first innings at Lord's, when the rest of the eleven could only contribute 41 runs. He stands out as the best bat in the team. Forster played well early in the season but, after straining his back, failed to keep up his form. Baily. on the other hand, possibly owing to the cares of captaincy, made fewer runs in the earlier matches than he did in his great innings at Lord's. Crake, also, and Brandt reserved their highest scores till that prolonged effort made by the eleven in the second innings against Eton. Unsuccessful though the Harrow XI. were this season, inexcusable as the collapse of all save Bolton in the first innings may have been, let every credit be given to the batsmen. who, after fielding out for over 400 runs, made such a dogged and determined fight for their school against Eton and the clock. Baily, as wicket-keeper, seemed more suited to fast bowling than to slow, and did not avail himself of chances of stumping, but it

was in fielding that many runs and chances were thrown away Brandt and Eiloart, however, being notable exceptions in this respect. In the absence of Rattigan, the bowling devolved upon Morris, who was useful, and the two Reunerts, the elder of whom is steady, while Humphreys as a fast bowler should show improvement, but taken as a whole, the bowling can only be termed moderate. As most of the team are young, there is promise for the future, and doubtless this eclipse of the brilliant light of Harrow cricket is only temporary.

WESTMINSTER, like Harrow; seemed to have struck a "bad patch" last season. With seven old "pinks" remaining from previous years, hopes were entertained of a successful year, but a series of defeats in the first few matches seemed to take the heart out of the eleven. Against Charterhouse, at one time, they seemed to have the match in hand, having scored 224, and secured five wickets for 50, but defeat was in store for them. The three best bats in the team, Kirkpatrick, Rawlings, and Walters, all came off in this match, but as the highest average of the three for the season is under 22, they must be regarded as somewhat unreliable. The cares of captaincy found another victim in Gardner, who seemed unable to do himself justice either in batting or bowling, and is to be commiserated on his complete failure against Charterhouse. Kirkpatrick took some wickets, but Hepburn must be regarded as the best of the bowlers, and at times, when the wicket suited him, displayed considerable skill. The side seemed easily disheartened and unable to contend against bad luck, while the fielding was affected by the frequent despondency that came over the team.

CHARTERHOUSE were a team that improved as the season progressed, but did not come up to the standard of the last two years, the absence of Branston being of course severely felt. However, in the school matches, Charterhouse had the happy knack of providing a century maker, and, against Westminster, a brace of them. Hooman, in conjunction with Somers, by a prolonged stand after five wickets had fallen for 50, converted an impending defeat into a victory. Hooman's hitting was particularly fine in this match in both innings, 28 runs in one over being a notable achievement. Against Wellington also he played finely for 78, but was surpassed by Blagrove who scored 121, the two innings being the chief factors in a victory by 130 runs. Against Haverford, yet another big scorer appeared in the person of Buchanan, who appears to be the most promising player in the eleven, and will remain at the school to be captain next year. Payne failed to do himself justice as a bat, but repaired that omission to a certain extent by developing into a useful change bowler. He showed his true form, however, in the match at Lord's. for the Public Schools' XI. Somers showed himself a cool and determined player at a crisis, and made his big score against Westminster when runs were urgently needed. Cripps, the captain, must be added to the list of those who fail in batting when the cares of captaincy usurp their attention. His leadership was energetic and excellent, and he varied the somewhat moderate bowling at his disposal with consummate judgment. Stranach improved as a wicket-keeper by practice, but was somewhat generous to his opponents in the matter of extras. Reference has been made to the moderate nature of the bowling. Kemp-Welch was the best, and most unfortunate in the matter of unaccepted chances, though Gilbert took most wickets, and Buchanan also had a better analysis. The ground fielding was very fair, but many catches were missed, Cripps, Norman, and Buchanan being rather superior to the rest of the team. The mention of Charterhouse's victory over Wellington leads us to consider the performances of the latter school, which were quite as good as could be expected from a young and inexperienced team without any old choices. The task that devolved upon Berrington, of forming an eleven from absolutely new material might well have unnerved a far more experienced cricketer, and he was another of the captains who failed to show their true form as batsmen, though he must be given every credit for his fine effort against Charterhouse, when he set his team an admirable example. Drysdale also performed well against Charterhouse and made a great attempt to save the match against Haileybury, scoring 114. Robertson also played in determined fashion against Haileybury, his two excellent innings amounting to over 100 runs for the match. These two, with averages of 32 and 29 respectively, were the best bats on the side. Fowle, Vigors, and Marshall are free hitters, but somewhat unversed in the art of selecting the right ball to hit. The bowling was admittedly weak and lacking in variety, Fowle, Marshall, and Robertson being all medium right-hand. Drysdale, however, shows promise, and, by taking eight wickets for 27 runs, must have startled and surprised the Zingari XI. The defeat of I. Z. was the best performance of the year though the Old Boys' match was also won. The wicket-keeper, Walker, naturally could not rival his predecessor Payne, but he proved himself of average merit. Fowle was brilliant in the field and Drysdale very good at slip. The others were good in most matches, but seemed to have united in selecting as their "off" day a most undesirable one, viz. the Charterhouse match, in which the fielding was generally bad, Hooman and Blagrove being each badly missed early in the innings.

HAILEYBURY, the conquerers of Wellington and Cheltenham, possessed two bats that stood out above the others in Bignell and

Heymann. Both made over 500 runs in the season, and Bignell made over 50 for the Public School's XI. at Lord's. Heymann took also more than 50 wickets, his all-round performance ranking little below Crawford's for Repton. The eleven seemed to rely too much on these two, as, except Rigby, who with Bignell materially assisted to win the Wellington match, the others seemed rather free than trustworthy batsmen. Heymann occasionally found his double duty of making runs as well as getting the other side out, too much for him, and was sometimes unable to do himself justice as a bowler in consequence of a long and tiring spell at the wickets. His consistency was remarkable as an average of 42 without a century shows, and he opportunely omitted to score heavily. against Wellington with the result that he took nine wickets. Cheltenham also provided him with eleven victims, as he did not fail to take full advantage of the difficult wicket. Against the M.C.C., moreover, he found a pitch to his liking and secured seven wickets for 18 runs. Dibdin occasionally proved useful as a change, and Bostock showed promise both as batsman and bowler. Howard as a bat did not come up to expectation, though he rose to the occasion against Wellington, making over 60 runs for once out. The three bowlers were also among the best fieldsmen on the side, the majority of whom were useful, while Bond may be described as brilliant in the long field; the whole team fielded excellently against Cheltenham at Lord's, and secured a handsome victory in an innings, making the most of their advantage, though it certainly was an advantage, to win the toss.

From RADLEY comes the pleasing news of a team who relied for success more on their ability to get their opponents out than on their power of making runs, but satisfaction at this must be tempered with regret that frequent catches were missed. To reverse the usual order of departments, in which I have considered previous elevens, the catching was excellent in practice, but faulty in matches. The ground fielding was good as a rule, Robinson being brilliant at cover, and had catches been held off Blencowe, he would have had a remarkable analysis. Blencowe is slow left

nantrand tempos people to hit, and when they hit the ball often goes up in the air; hence the need of holding catches. Fox, at the other end, supplied leg breaks and got several customers, especially in the Bradfield match. Worsley, the captain, was far and away the best bat, and the team usually backed him up when he made a good score, but occasionally Worsley's failures spelt disaster to the batting of the others, though the Bradfield match was in this respect a notable exception. As most of the team stay on, even a more successful season should be in store.

BRADFIELD, defeated by Radley, had previously administered to Sherborne their only defeat of the season, by plucky up-hill

cricket, after being behind at the conclusion of the two first innings. Against Radley the batting failed, and the fielding, never the strong point of the eleven, got demoralised. Ling captained the team with judgment, and improved as a wicket-keeper; as a bat he was consistent and trustworthy. Bernard, who heads the averages, played some good innings, but at other times got himself out. Robinson and Thornhill gave fair assistance in batting, Thornhill being in addition the most dependable bowler on the side, though Grant and Boyle had better analyses. In fielding, one finds the oft re-iterated complaint of slackness and inability to hold catches, de la Cour being a brilliant exception.

SHERBORNE has a different tale to tell from most schools. The fielding was without exception excellent, and the wicket-keeper, May, showed great promise; he combined with Jesson's leg breaks most successfully, as over enterprising batsmen at St. Paul's found to their cost. Jesson secured over 50 wickets, and stands out among the best public school bowlers of the season. In batting, there were a good even lot of bats among the first seven, who all averaged over 20, Homfray, who topped the averages with nearly 36, being the pick. Ross again captains the team next season, and will have May, Jesson, and four other old choices assisting him, so there should be a bright future in store for Sherborne cricket. St. Paul's were easily defeated, Jesson taking eight wickets, four of them with the assistance of May. The defeat by Bradfield has been referred to, and without disparaging the success of Bradfield, Sherborne showed better form in the other matches.

St. Paul's School, in addition to playing Sherborne, opposed three other school teams, an example which I venture to urge might be followed with advantage in other places. When two schools meet, the keenness displayed on both sides is a surer test of genuine cricket than matches against clubs, when the opposing team (captained very often by one of the school-masters) is not allowed to "break the boys' hearts, etc., etc.," as my

predecessor so emphatically described, and condemned, in his article on this topic last year. St. Paul's succumbed to Sherborne, to whose brilliant fielding a compliment, deserved by the victors and honourable to both sides, is paid gracefully by the Pauline Secretary. Dulwich also gained a brilliant victory, in spite of the sustained effort of Geary, who made 88, but the absence of Smyth, the best all-round man at St. Paul's, was a severe handicap to his side. The other two matches afforded exciting finishes. Brighton were defeated owing to their last wicket being captured off the fourth ball of the last over! Bedford Grammar School had one wicket to fall, and were 71

runs behind when time was called! It is good to play in such matches which remain long in the memory, and provide "The joy of eventful living!" Geary was the best bat in the eleven, and scored well against Dulwich, and also against Sherborne, in the second innings: Smyth, in the other two school matches, made good scores, and Wakelin proved a steady bat, and a captain invaluable to the team. Bolton and Smyth took their wickets cheaply, considering the season, and Munton was a useful change. The fielding was undeniably good, Smyth and Wakelin being the pick, the latter probably adding an additional record to those I mentioned at the beginning of this article, by not missing a single catch! Let us hope he will play for some first-class county, and, continuing his form of this season, set a much-needed example to older cricketers.

DULWICH were a team that improved as the season went on, and much of the improvement is due to the excellent captaincy of Knowles. Owing to the wicket at Dulwich being on London clay, run-getting was a matter of difficulty, and the averages are low. Firth stands out as the most consistent bat of the team, and as he is only sixteen, there should be a brilliant future before him. Kiddle and Knowles also performed well, though the cares of captaincy seem to have had their usual effect on the latter's batting. Kiddle and Betham were the most trustworthy bowlers, of whom the former proved the more successful: while Kerr, Langdon, and Lindsey provided changes which were utilised by Knowles with excellent judgment. The team improved by practice into a good fielding side, and had a plucky wicket-keeper in Goggs. Their first two school matches, against Bedford and Tonbridge, resulted in defeats; the last two, against Brighton and St. Paul's, in victories, owing in a great measure to Knowles having worked up his men and got them together. As eight of the eleven are staying on, there are hopes of a successful season next summer.

FELSTED suffered from the not unusual complaint of being unable to get the other side out. Preeston, the captain, had a good deal of work placed upon him in the bowling line and was consistent; against Highgate he took six wickets in a most exciting match, lost by five runs. Murray-Shirreff bowled well against King's School, Canterbury, and Thomas sometimes got wickets. Preeston and Jewell stood out as the best bats, and as it occurred to each of them to make a century against King's School, Canterbury, the result was a brilliant win for their side. Against Leys School, they had to play for a draw and got it. Hankin, a good bat, was seldom able to assist the School, while

Davies frequently tried to hit, and, against the old Boys, succeeded in his efforts. Jewell enhanced his value to the team by developing into a capable wicket-keeper.

KING'S SCHOOL, CANTERBURY, had one player who calls for mention in Huyshe, their wicket-keeper. Against Felsted he made a fine effort to save the match with an innings of 88, and the excellence of his keeping may be judged by his performance for Dorsetshire in the holidays, when in an innings of 518 by Hertfordshire, he only let two balls pass him. His career at Oxford will be awaited with interest.

LEYS SCHOOL also claim recognition on account of Tebbutt's remarkable success as a batsman. Centuries came from his bat with great regularity, Felsted fielding out for his seventh, and Bedford County School for his eighth, while his average number of runs seems to rival Tom Hayward's for the same period. Tebbutt's batting for the Public Schools eleven at Lord's maintained his school reputation. Owing to lack of information, I must dismiss the Leys eleven as Tebbutt et praeterea nihil.

Lancing had a fine scoring side, Brisley, their captain, averaging 48 without a century. Greenfield, Stephens, Powell, Wade and Mathieson backed him up well. Greenfield also proved the best bowler, Wade, Stephens and his brother assisting him, while Mathieson is distinctly above school-boy form as a wicketkeep. The fielding was very smart, Chiazzari being exceptionally brilliant. Hurst College and Christ Hospital were victims to Lancing. Leatherhead School narrowly escaped the same fate, and Brighton effected an even draw. Brisley stays on another year, before proceeding to Cambridge.

From distant Rossall I learn that they had a fine all-round cricketer in Mugliston, their captain, with Powell to support him in the bowling line, and Stafford and Peltzer in batting. The latter also is the finest field in the best fielding side Rossall has ever had. May the influence that brought this about in Lancashire be brought to bear on some of our Southern schools. It is unfortunate that owing to illness, not at Rossall, neither of the school matches against Shrewsbury and Loretto could be played.

From Bedford Grammar School, I learn the cheering news that the bowling was the feature of the season's cricket. Peel was most consistent, but Joyce took most wickets, while Barraud and Clamp rendered assistance. J. G. Milton, the International, was captain, and with Alexander and Joyce, proved the pick of

the bats. The fielding also was of a nature that gave encouragement to the bowlers. In addition to the matches with Dulwich and St. Paul's, already referred to in the paragraphs about those schools, Merchant Taylors were severely defeated.

Forest School has rather a dismal record of failure. The eleven played Merchant Taylors, which resulted in an even and exciting draw, and some other schools, achieving only one victory, over Eltham College. Much of the work devolved upon Waugh, who made a century and had an average of 32, while he and Bonsey, the captain, shared the bowling with a little assistance from Watson. The fielding, however, was sadly to seek, ground fielding being slovenly as well as catches being missed to the number of twenty in one match. Does this furnish yet another record in this eventful season? This state of affairs at Forest School should be remedied in future years.

HIGHGATE seem to have had a fair bat in Lushington, who, improving as the season went on, had an average of 24. Honeyball and the two Sayers can scarcely be termed consistent, but the first-named played an opportune innings that won the Felsted match. These three, with the assistance of Cox and Fendick, made what can only be termed a moderate lot of bowlers.

From Brighton the account is encouraging, and though the team was not equal to those of the anni mirabiles, when Cotterill, Wilson, Woods, and Cooper made the side so formidable, it was Belcher proved better than it has been for a good many years. an excellent captain and good all round player, making over 400 runs and taking 50 wickets at the small cost of 12 runs each. His career at Cambridge should be watched with interest. Morrice conducted the attack from the other end, but change bowlers were scarce. In addition to Belcher, Shallow, and Blatch constantly made runs, and a good many members of the side fielded well, Wheeler and Bartley and the two Shallows following their captain's excellent example in this department. No fewer than five schools were opposed: Merchant Taylors' and Christ's Hospital being easily defeated, Dulwich and St. Paul's proving victorious, and Lancing playing a drawn game.

To make a departure into the Midlands and West of England, after dallying so long round London and in the South; RUGBY though an improving side, failed against Marlborough and suffered a nine wickets defeat. Burton in both innings, and Chadwick and Sloman each in one, made a determined effort to save the match. The weakness of the bowling may be realized from the fact that 300 went up with only two Marlborough wickets down.

Then a curious thing occurred. Tripp, the Rugby captain, who had bowled lobs without success, realizing that desperate situations require desperate remedies, resorted to an unwonted overhand action and got five wickets at small cost. All credit to him for the success of his daring experiment. The fact that the bowling was exceedingly weak is shown by the fact that all the bowlers averaged over 20 runs a wicket. Beattie, Bowring, Tripp, Ruault, and Gordon made an attacking force, whose success somewhat resembled the success of the Russian attacking force in Manchuria. Bowring, Tripp, Chadwick, Barton, and Sloman made the most runs, while the fielding can only be described as fair, catches being plentifully missed at Lord's.

MARLBOROUGH thoroughly deserved their win at Lord's, and may be considered to have had the best of a drawn game against Cheltenham. Scott, the captain, set an excellent example to the team, and though at times he would get out for a very small score. he set the seal on his reputation as a batsman, by a fine innings at Lord's. He was well assisted by Goodwin, Butterworth, Ireland. and Milton, all of whom made over 400 runs, and had averages just under, or a little over, 30. These batsmen seemed to have some admirable arrangement between them never all to fail and never all to come off together, with the result that the eleven could usually be reckoned upon to make a good score. In bowling, Scott had Robinson, Goodwin, and Phillips to assist him, and rang the changes with judgment, but the attack was not strong enough to get a good side out. Fielding was fair without being brilliant, and compared very unfavourably with that of Haverford, who administered a severe defeat, in spite of a determined effort by Goodwin in each innings.

CHELTENHAM undoubtedly, had a very fine bat in Salter, and in the event of his making runs (which he did to the tune of nearly 1000 in the season, with an average of over 66-easily the record for the school), others, notably Mackenzie and Tennant could get runs also. Salter scored over 100 in the two innings against Marlborough, and a century against Clifton, both of which matches were drawn. Against Haileybury he failed, and so did the rest of the side, the result being a defeat in an innings, though, as I mentioned before, the winning of the toss secured to Haileybury a great advantage. Still the team failed in their attempt to play an uphill game. Salter, who is only seventeen, stands out as one of the most successful bats of the year, and obtained four centuries in succession for the school with a fifth one, against East Gloucestershire for another team, inserted in the sequence. Mackenzie is a fine free player, and Tennant a good one, who was unconquered in each innings in the Public Schools eleven match at Lord's, and made runs each time. Smythies, the most reliable bowler, was injured in the Clifton match, which caused a lot of work to fall upon Peel, as the other bowlers were not of much account, while the fielding can be described as slow on the ground and uncertain in the air, though Slater and Rawson held catches, and Taylor proved a fair wicket-keeper.

CLIFTON had the fortune to have a really first-class wicket keeper, as well as a consistent bat in Imlay, their captain. He was supported by several others of good average merit. Crew and Pilcher being the most stylish, and Hanson and Fuller-Eberle the most promising and capable of improvement. Champion played a first-rate innings against Cheltenham, and the whole team deserve credit for passing their opponents' huge score. As a bowler, Methuen should develop into a first-class one, combining as he does, a swerve from the off and a leg-break. Dobson got some wickets but was erratic, while Pilcher and Evershed (who will doubtless keep the family name prominent in cricket annals in the future, as his father, the Derbyshire cricketer, has in the past) got their wickets at less cost than the others. In fielding also it is gratifying to find there was much brilliancy. Reference has already been made to Imlay's wicket-keeping, and the eleven were fortunate enough to have also a good understudy with the gloves in Fuller Eberle. This player was also a fine field without the gloves, as was Evershed, but Champion seems to be superior even to these fine fieldsmen, and to save more runs each innings than a good bat usually makes. Would there were more of his calibre to raise the present low standard of ordinary school fielding.

UPPINGHAM had two batsmen who stood out by themselves-Hurst, who saved his side from defeat by Malvern, and made a determined, but unsuccessful, effort against Repton, and Palmer. whose sensational play enabled them to defeat Hailevbury. Hurst has an average of over 50, and took most wickets but at a considerable cost, though he heads the analyses. Palmer, who appeared for Middlesex in August, should have a great career before him at Cambridge, if he continues to rise to the occasion as he did against Haileybury, when having a great responsibility upon him, he played himself in steadily, and then hit with such vigour that he scored 216 in just over two hours and a half, and won the match. Hurst stays another year and is evidently a fine free scoring bat, who like Palmer, can do his best work when much depends on him. The bowling was varied but not very successful, Lowe, Swindells, and Johnson assisting Hurst to get wickets, but not at all cheaply. Fielding, it is encouraging to learn, was a department in which the eleven excelled.

MALVERN had two familiar Malvernian names-Day and Foster—at the head of the batting averages, and most worthily do these younger members uphold the reputation made for their families by their elder brothers. The name of Foster might well be expected to be at the head of the Malvern averages and aggregates, especially when the average attached to it is over 50. and the aggregate over 700. But excellent as this performance is, it has to yield pride of place, in both columns, to Day whose figures show an aggregate of nearly 900, and an average of 67. Fortunate indeed the school that possesses two such bats at the same time, and unfortunate their opponents, as Uppingham and Haverford know to their cost, each of these teams having to field out against centuries from both Day and Foster. Day is not going to the same 'Varsity as his brother, S. H., for which Oxonians should be devoutly thankful, as in one and the same week, meeting Oxford bowling twice, he showed his appreciation of it by securing 172 against the Harlequins, and then helping himself, even more liberally, from the New College bowling, his score in that match being 201. Let men of Kent and Kentish men alike pray that he may find time, as his brother does, to assist their county.

Foster, not always content to play second fiddle to Day, in the Repton match eclipsed his colleague by scoring 79 and 43 against Crawford, the best public school bowler of the year. His efforts were unavailing to save his side, but it is interesting to note in this contest of schoolboy champions, that Day got Crawford out in the first innings, and Foster bowled him in the second, Crawford having previously bowled Day in the first and Foster in the second innings of Malvern. A pretty interchange of compliments and creditable to all concerned! Repton might not have secured their victory over Malvern, had Cornelius been able to play, and taken a century off them as he did last year. The Sanatorium unfortunately claimed him as an inmate for a great portion of the term, but as he remains to captain the team next year, let all cricketers wish him success and a return to his form of the previous year. Mellin played pluckily against Repton. but had to be content with 51 instead of the hundred he compiled the previous year. Simms, Aste, and Mann, all promising bats, remain on to assist Cornelius, the first named being, with Pearson, the mainstay of the bowling, with Day as a change, but the attack undoubtedly was weak. The team proved themselves an average fielding side, though Cornelius's absence was sadly felt. his fielding being a revelation, and an example even to Haverford.

It is possible that impatient readers (Reptonians and Surreyites in particular) may be saying, as they wade through my obser-

vations (if they take the trouble to wade) "The writer has heard "about Crawford, as he mentions him on the first page, why "does he not set him before us, the best all-round public school "player of this and many other years, and incomparably the best "bowler?" In that estimate of Crawford all must agree, but, as people eating strawberries and cream often keep the biggest strawberry till near the end, so in this notice of Public School cricket, the best cricketer has until now (and we are nearing the end) not being alluded to except casually to be set aside for future reference.

The REPTON XI, had a very high standard to maintain in view of the record of the previous year, when only one match was lost, and that by only one run. This year two defeats were suffered, but both school matches were again won, though not each by one innings this time, and the Haverford match, spoilt by rain, was drawn in favour of Repton. It was no mean performance to defeat schools like Malvern and Uppingham, and have the best of the game against our American visitors. Young was captain for the second year, and his average receded by 25 per cent; this however is another illustration of the misleading nature of averages. Young scored nearly a hundred runs more than last year (aggregate this year 630), never made a century and had an average of over 45! As he goes to Cambridge, the Cambridge captain is hardly likely to consider him a "decadent" cricketer. He is a wicket-keeper of more than average excellence, as well as a consistent and reliable bat. As regards Greswell, a spell of want of confidence affected him in the middle of the season, but when a player has an average of 30 and a highest score of 67, he must be a persona grata in any team, even though he may have omitted to repeat his century against Malvern. Meyer, who is undoubtedly a good bat, failed to maintain his form of the previous year. Crawford—now we prepare to assimilate our largest strawberry—was throughout the season superb, especially in the two school matches. Against Uppingham he took twelve wickets and against Malvern he secured the unlucky number of thirteen-unlucky indeed for Malvern. Throughout the season, he took seventy-five wickets, just three more than all the other bowlers of the eleven! Though undoubtedly the best public school bowler, with a strong claim to be considered the best amateur bowler of the year, as a bat he was of material assistance, to put it mildly, to his school, his contribution in that department amounting to 759 runs, with an average of 54! As he is staying on at Repton another two years, there is probably trouble in store for Malvern, Uppingham, and other opponents, in the seasons of 1905 and 1906. In the bowling line Halkett and Greswell helped Crawford to take wickets, and Johnson should be included in the category of useful school bowlers. Thwaites was serviceable in all departments, while the fielding of the side can be described as fair, though not brilliant, excepting of course the invincible Crawford.

To conclude with a reference to schools, whose information has but lately reached me, Tonbridge had a young team and a very good young bowler of fifteen, B. W. Pigg, whose development will be awaited with interest. The conquerors of Dulwich, the eleven succumbed to Haverford, the batting being at fault. Sadler, the captain, at times set his team a good example in batting, while Colley, Wright, Bryan-Brown, and Killick, when they made runs, made them well. Wright also assisted in the attack and should be useful next year Houlder proved above the average as a wicket-keeper, and the ground fielding of the side was excellent, while Bryan-Brown surpassed his colleagues in the matter of brilliant catches, which he secured at point.

It is late in the day to ask any reader to accompany me across the Border, but I would ask the readers of Wisden to make an excursion, -on paper only-to Glenalmond, where they will find a team that defeated Watsons College and Blair Lodge, succumbed to Fettes, Loretto (after a close finish) and Merchiston, and had much the best of a drawn game against Edinburgh Academy. Scores rule low on Scotch wickets, but Fraser and McKellop by 28 and 27 wickets, for seven and nine runs apiece respectively, showed their ability to dispose of opponents cheaply. As Cunningham got rid of 35 opponents for ten runs each, his assistance on a Scotch wicket is not to be despised. The bowling is justly described as quantity, and when seven members of the team each take eight wickets or more for averages, varying from four runs to 13, there cannot be much hope of improving one's average against Glenalmond, even though the bowlers were all medium pace. Malcolm heads the batting averages and being a good field, seems the best all-round man. Ogilvy, McKillop and Jenkinson made runs under difficulties, while in addition to Malcolm and Jenkinson, already mentioned, Easton deserves credit for his fielding, and Wilson for his wicket-keeping.

No further information comes from my native heath, though cricket is played in other Scottish schools than Glenalmond; likewise it is played at Shrewsbury, though this year the match between Shrewsbury and Rossall had to be cancelled. Belated information however reaches me, that Humphreys the captain was a good fast bowler who may he heard of at Cambridge, and T. P. G. Forman a brilliant bat, while Horlick was brilliant in the

field. Will my readers excuse me from attempting to make bricks, when the supply of straw, as in the case of the Israelites in Egypt, is inadequate? and allow me to conclude my article with a few remarks on the chief Public School cricketers of the season, and pass by in respectful silence the numerous other schools, for whom space is not available, or from whom information is lacking? There is one school, however, whose doings have been very much before the public throughout one season, and I have been asked to make reference to our American friends, the Haverford XI. They proved worthy opponents, and only acknowledged defeat on two occasions, at Malvern and at Eton, though the conquerers of these two schools, Repton and Winchester had the best of the drawn games with the Americans, Winchester achieving a moral victory. We may regard them as more than equal to all save our best Public Schools, and in this category I would place, Winchester, Repton, Eton, Malvern, and Uppingham (whom our visitors did not play). In fielding they have nothing to learn, and to many schools have much to teach. Also in playing an uphill game, they exhibit a wonderful graft from the good old tree known as British pluck-witness Chris. Morris's determined play against Winchester, the two Morris's coming from the stock of which batsmen are made. The bowling was varied, but perhaps in that department there is room for improvement, which doubtless will be manifest when next they visit us, and may that be soon.

As an all-round cricketer, Crawford stands out in a class by himself, being alpha plus in all departments, and will doubtless continue to do so while he remains at Repton; other fine all-round players seem to be Heyman, Evans, Mugliston, Belcher, Buchanan and Rattigan. Among batsmen, Foster and Day, Wright and Bruce, Hunt and Palmer, Salter, Boles, Scott, Young, Tebbutt, Hooman, Bignall, and Brisley have shown remarkable form for their various schools. Comparison between them is impossible owing to the varying nature of wickets, and the varying strength of opposing teams, but it is not unreasonable to suppose that some, though not all, will make their mark in firstclass and University cricket. With Crawford facile princeps as a bowler, Heyman (who has also been referred to) and Younger. Jesson, Methuen, Humphreys (of Shrewsbury), Blencowe, Hatfield (on his best form of 1903) and young Pigg (who should train on) seem the most successful and promising. The wicket-keepers May, Young, Huyshe, Mathieson, Finlay, and Houlder seem in a class superior to the others, and it is possible there may be a "Blue" awaiting one of them. Let not the important department of fielding, and those who have shown excellence in that respect be omitted. Haverford set a notable example to all our schools, but some of them would be no mean rivals to our American visitors. Eton, Sherbone and Rossall, Uppingham and Tonbridge were fine fielding teams, and individually, Campbell, Severne, Wakelin, Peltzer, Champion, Fowle, Bond, Chiazzari, Cornelius, de la Cour, and Bryan-Brown deserve recognition for their excellence in this department of the game, so sadly alas! neglected by so many of our school elevens, and county ones also.

In conclusion, though I do not propose to classify schools that do not play one another. I may be taken to task for my assertion. early in this article, that Winchester is entitled to the first place among our schools. Many may urge that Repton, by defeating two remarkably strong schools in Malvern and Uppingham, having the best of the draw against Haverford, and possessing the finest bowler that has appeared for many years, is entitled to that position. The question can never be decided, and each person is entitled to his individual opinion. Mine, which is merely that of an individual, and for which I do not ask the Editor of Wisden to assume responsibility, is based on the following considerations: Repton twice met with defeat, Winchester did not: Winchester defeated one very strong side in Eton, and had a moral victory against Haverford. Winchester had a team of all round excellence that did not depend on one or more stars; and moreover, met opponents, in club matches, of greater strength than Repton usually did, and yet were never defeated. Let them have the honour due to an unbeaten side.

Let me also bid fairwell to my readers, with the hope that they will credit me with an endeavour to criticise justly from a vast mass of, sometimes conflicting, details, and will overlook errors, which are those of judgment and not of intention. To those who have so kindly supplied me with information, some of them old friends, and some of them previously unknown to me, I would tender my hearty and sincere thanks for their assistance, without which the materials for this article could not have been collected.

The following are some of those who are going to the Universities :-

#### OXFORD.

- C. N. Bruce, Winchester. C. G. E. Farmer, Eton.
- H. C. Cumberbatch, Eton.
- F. Forster, Harrow.
- A. Howard, Haileybury. H. H. Worsley, Radley.
- T. L. Reid, Radley.
- R. H. Williams, Radley. J. de la Cour, Bradfield.
- A. B. Knowles, Dulwich.
- J. N. G. Johnson, Rossall.

- O. F. Huvshe, Kings School, Canterbury.
- V. Edwards, Rossall.
- J. S. Norrice, Brighton.
- R. M. Chadwick, Rugby, H. N P. Sloman, Rugby.
- H. F. Beattie, Rugby.
- F. C. Rowe, Rugby.
- H. M. Butterworth, Marlborough.
- G. N. Foster, Malvern.

#### CAMBRIDGE.

- G. H. Ireland, Marlborough. R. E. H. Baily, Harrow.
- A. T. A. Dobson, Clifton. C. S. Rattigan, Harrow.
- A. D. Imlay, Clifton. W. S. Bolton, Harrow.
- W. H. Pilcher, Clifton. A. R. Gibbs, Sherborne.
- R. S. Preeston, Felsted. E. A. Smythies, Cheltenham.
- J. E. J. Taylor, Cheltenham. J. L. Beaumont, Felsted.
- E. T. Edge-Partington. C. Palmer, Uppingham.
  - R. A. Young, Repton. Felsted.
- C. G. Humphreys, Shrewsbury. F. H. Mugleston, Rossall. A. P. Scott, Marlborough.

July 6, Honor Oak Park {	M.C.C. AND GROUND GUY'S HOSPITAL	219 — 191 —	Won by 28 runs.
July 6, 7, Newport {	M.C.C. AND GROUND MONMOUTHSHIRE	216 184* 319 77	Won by five wickets. *Five wickets down.
July 6, Coventry	M.C.C. AND GROUND . COVENTRY AND N. WARWICK	167 — 147 —	Won by 20 runs.
July 7, Dunchurch {	M.C.C. AND GROUND DUNCHURCH HALL	138* — 266† —	Drawn.  *Four wickets down. †Eight wickets. Dcld.
$\begin{array}{c} \text{July 7,} \\ \text{Hornsey} & \dots \end{array} \bigg\{$	M.C.C. AND GROUND	107 84* 57 133†	Won by seven wickets.  *Three wickets down.  †Four wickets. Deld.
July 7, Lord's	M.C.C. AND GROUND HAVERFORD COLLEGE	147 — 244 —	} Lost by 97 runs.
July 7, Streatham {	M.C.C. AND GROUND STREATHAM	67 106* 353	Lost by 286 runs. *One wicket down.
July 8, 9, Leamington {	M.C.C. AND GROUND	221 28* 171 75	Won by 10 wickets. *No wicket down.
July 8, 9, Rugby	M.C.C. AND GROUND RUGBY SCHOOL	190 205* 114 117	Won by 164 runs. *Seven wickets. Dcld.
July 8, 9, Cardiff	M.C.C. AND GROUND GLAMORGAN	233 108 <sup>3</sup> 211 176 <sup>4</sup>	Drawn. *Three wickets down. †Four wickets. Deld.

# ETON v. HARROW.

Played at Lord's, Friday, Saturday, July 8, 9.—For the second year in succession Eton beat Harrow in a single innings, but they had to work much harder and longer for their victory than in 1903, little more than half-an-hour remaining for play when on the Saturday evening the end was reached. Eton won by an innings and twelve runs, as against an innings and 154 in the previous year, but their superiority was almost as marked as before, the difference being that Harrow

made a much better struggle to avoid defeat. The two matches were curiously similar in character, Harrow in each case losing practically all chance of victory through a doleful failure in batting after winning the toss. The match under notice will always remain a memorable one, inasmuch as D. C. Boles, of Eton, by scoring 183, beat a record which had stood for 63 years. The highest score previously obtained in the matches between the two schools was 152 for Eton in 1841 by the still-living Emilius Bayley. One heard after the match that though Boles was thought likely, by reason of his straight bat and great advantages of height and reach, to do well in the match, he did not have a reputation such as was enjoyed at Eton in the past by R. A. H. Mitchell, Alfred Lubbock, the late C. J. Ottaway, Alfred Lyttelton, W. F. Forbes, or C. T. Studd. Still, whatever his merits, he played an extraordinarily fine innings. Assuredly no one in a school match has ever shown greater self-control or a more remarkable power of adapting his play to the varying conditions of the game. Up to a certain point, while things were going badly for his side, he was caution itself, being actually at the wickets an hour and three-quarters for his first twenty runs. No one-unfamiliar with his style—watching him during that time, could have suspected the tremendous hitting-power he afterwards displayed. Gradually, as Eton got the best of the match, he began to let himself go, and after reaching his hundred he made his third fifty in thirty-five minutes, driving in wonderful form. An innings marked by stronger contrasts has perhaps never been seen at Lord's. Just at the end he scored 35 runs from two consecutive overs, and, after taking two hours and forty minutes to make 50 runs, he added 133 in an hour and threequarters. His hits included twenty-seven 4's, seven 3's, and ten 2's. Naturally his innings dwarfed everything else in the match, though there were other features of interest, the Eton fielding, which was put to a severe test on the second afternoon, reaching an exceptionally high standard. In this connection a special word of praise must be given to Campbell, the Eton captain, who did great things at cover-point.

Harrow, on winning the toss, lost three wickets in half-an-hour for 16 runs, but, so long as Bailey stayed with Bolton, there seemed a chance of these early disasters being retrieved. After Bailey left at 62, however, the batting collapsed in a lamentable way, and the innings was all over for 109. Bolton played in capital form for over two hours, and was the last man out. When, soon after the luncheon interval, Eton had three wickets down for 40, there still seemed some likelihood of an even game, but Boles and Todd took the score to 183, and at the drawing of stumps Eton had secured an overwhelming advantage, the total standing at 375 for six wickets. Though in the end over-shadowed by Boles, Tod played brilliant cricket for his 84, hitting a dozen 4's. Boles, it should be mentioned, gave a very difficult chance of being caught and bowled when he had made 13. Bailey, while keeping wicket, received a severe blow over the right eye, the flesh being cut clean through to the bone, and could take no further part in the day's cricket.

On the Saturday the game resolved itself into a long struggle on the part of Harrow to avoid defeat. They went in at a quarter to twelve with a balance of 297 against them, and it was not until five minutes to seven that the last wicket went down, the total reaching 285. It had been arranged to play on, if necessary, till half-past seven, so that Eton won with thirty-five minutes to spare. Bailey, though naturally feeling the effects of his accident, played a great game for two hours and fifty minutes, going in first and being the fifth man out. When, before four o'clock, the sixth wicket fell at 145, the end seemed near, but Crake and Brandt played with the utmost resolution, and added 101 runs for the seventh wicket. At the fall of the ninth wicket an hour and a quarter remained for play, but Harrow died very hard, Morris and Humphreys staying together for forty minutes before a palpable case of leg-before-wicket finished the match. Eton bore their long outing uncommonly well, never for a moment becoming slack. Horlick, a very slow left-handed bowler, sent down fifty overs, keeping his length with the steadiness of a professional, and proving himself master of many devices. It would be difficult to say how many runs were saved by smart

fielding during Harrow's long innings, any number of hard hits being stopped. The old choices in the elevens were Campbell, Boles, Tod, and Hatfield for Eton, and Baily, Bolton, Crake, and Forster for Harrow. C. S. Rattigan was prevented from playing for Harrow by the tragic death, a few days before, of his father, and illness kept C. E. Lucas out of the team. Hatfield bowled well, but did not approach his success of the previous year. Early in the season he lost several weeks' practice through an injury to his knee.

#### HARROW.

Mr. E. H. Crake b Hatfeild	- c Turner b Hatfeild 55
Mr. C. Reunert b Severne	5 — b Hatfeild 0
Mr. W. S. Bolton st Tufnell b Hatfeild 64	4 — b Boles 12
Mr. M. C. Bird c Turner b Severne	5 — c Severne b Horlick 10
Mr. R. E. H. Baily c Astor b Boles 1	l — c Turner b Hatfeild 72
Mr. R. E. Eiloart b Boles	0 — c Tufnell b Boles 20
Mr. F. Forster b Horlick	1 — b Severne 19
Mr. D. R. Brandt c Boles b Horlick	— c Campbell b Horlick 53
Mr. J. Reunert c Severne b Horlick 8	8 — c Hatfeild b Horlick 8
Mr. R. O. Morris b Hatfeild 11	1 — not out
Mr. W. A. Humphreys not out	4 — lbw, b Tod 4
L-b 4	W 10, n-b 1 11
Fadalafiati - erei -	Tames of the second of the second
109	285

#### ETON.

Mr. J. J. Astor c Baily b Hum-	Mr. A. G. Turner c C. Reunert b
phreys 4	Morris
Mr. D. C. Boles c Humphreys b	Mr. C. E. Severne c J. Reunert
Bolton	b Morris 0
Mr. C. G. E. Farmer b Morris 21	Mr. J. N. Horlick b Morris 1
Mr. G. C. Campbell c Baily b	Mr. C. E. Hatfeild c Eiloart b
Morris 0	Humphreys 11
Mr. W. N. Tod c C. Reunert b J.	B 25, 1-b 1, w 3, n-b 3 32
Reunert 84	
Mr. H. C. Cumberbatch not out 53	406
Mr. N. C. Tufnell b J. Reunert 0	

#### ETON BOWLING.

	Overs	Mdns.	Runs	Wkts.		Overs	Mdns.	Runs	Wkts.
Hatfeild	. 16.2	4	25	3		37	18	46	3
Severne	. 10	3	37	2		19	11	49	1
Boles	. 9	3	9	2		28	10	63	2
Tod	. 1	0	4	0		11.2	2	29	1
Horlick	. 12	3	30	3		50	24	60	3
			C	umberb	atch	6	1	12	0
			F	armer		2	0	9	0
			C	ampbel	1	2	0	6	0

#### HARROW BOWLING.

Morris	29	6	93	5
Humphreys	24.4	7	84	2
C. Reunert	13	1	55	0
J. Reunert	21	10	49	2
Eiloart	6	0	36	0
Bolton	11	1	44	1
Crake	3	0	13	0

Umpires: J. Carlin and J. Phillips.

#### RESULTS OF PAST ETON AND HARROW MATCHES.

1805.	Eton won by an inns. and 2 runs.	1865.	Harrow won by an innings and
1818.	Harrow won by 13 runs.		51 runs.
1822.	Harrow won by 87 runs.	1866.	Harrow won by an innings and
1823.	Eton won by an inns, and 32 runs.		136 runs.
1824.	Eton won by nine wickets.	1867.	Unfinished.
1825.	Eton won by seven wickets.	1868.	Harrow won by seven wickets.
1827.	Eton won by six wickets.	1869.	Eton won by an innings and 19
1828.	Eton won by three wickets.		runs.
1832.	Eton won by an inns. and 156 runs.	1870.	Eton won by 21 runs.
1833.	Harrow won by eight wickets.	1871.	Eton won by an innings and 77
1834.	Harrow won by 13 runs.		runs.
1835.	Eton won by 165 runs.	1872.	Eton won by six wickets.
1836.	Harrow won by nine wickets.	1873.	Harrow won by five wickets.
1837.	Eton won by eight wickets.	1874.	Eton won by five wickets.
1838.	Eton won by an inns. and 30 runs.	1875.	Unfinished.
1839.	Eton won by eight wickets.	1876.	Eton won by an innings and 24
1840.	Eton won by 31 runs.		runs.
1841.	Eton won by an inns. and 175 runs.	1877.	Unfinished.
1842.	Harrow won by 65 runs.	1878.	Harrow won by 23 runs.
1843.	Harrow won by 20 runs.	1879.	Unfinished.
1844.	Eton won by an innings and	1880.	Harrow won by 95 runs.
1011.	69 runs.	1881.	Harrow won by 112 runs.
1845.	Eton won by an innings and	1882.	Unfinished.
1010.	194 runs.	1883.	Unfinished.
1846.	Eton won by an innings and	1884.	Unfinished.
1010.	135 runs.	1885.	Harrow won by three wickets.
1847.	Eton won by nine wickets.	1886.	Eton won by six wickets.
1848.	Harrow won by 41 runs.	1887.	Eton won by five wickets.
1849.	Harrow won by 77 runs.	1888.	Harrow won by 156 runs.
1850.	Eton won by seven wickets.	1889.	Harrow won by nine wickets.
1851.	Harrow won by eight wickets.	1890.	Unfinished.
1852.	Harrow won by 71 runs.	1891.	Harrow won by seven wickets.
1853.	Harrow won by three wickets.	1892.	Harrow won by 64 runs.
1854.	Harrow won by 98 runs.	1893.	Eton won by nine wickets.
1855.	Harrow won by an innings and	1894.	Unfinished.
	66 runs.	1895.	Unfinished.
1858.	Harrow won by an innings and	1896.	Unfinished.
	7 runs.	1897.	Unfinished.
1859.	Harrow won by an innings and	1898.	Harrow won by nine wickets.
HT II TO	48 runs.	1899.	Unfinished.
1860.	Unfinished.	1900.	Harrow won by one wicket.
1861.	Unfinished.	1901.	Harrow won by ten wickets.
1862.	Eton won by 64 runs.	1902.	Harrow won by eight wickets.
1863.	Unfinished.	1903	Eton won by an innings and
1864.	Harrow won by an innings and	Duce are	154 runs.
	67 runs	1904.	Eton won by an innings and 12
	asterially memory the effects of is		runs.
	or ser hay manua, programmed.		

Seventy-nine matches have been played, of which Eton have won thirty. Harrow thirty-three, and sixteen have been drawn. This is the generally published record, but Harrow men object very strongly to the game in 1805 being treated as a regular contest between the two schools, contending that it is no more correct to count that than the fixture in 1857, for boys under twenty, which has been rejected.

Fifteen three-figure innings have now been played in matches between the schools, as follows:—

183	D. C. Boles	(in 1904), Eton.	113	W. F. Forbes (i	n 1876), Eton.
152	E. Bayley	(in 1841), Eton.	112*	A. W. T. Daniel (i	n 1860), Harrow.
142	T. G. O. Cole	(in 1897), Harrow.	108	C. J. Ottaway	(in 1869), Eton.
135	A. K. Watson	(in 1885), Harrow.		R. B. Hoare	
124	J. H. Stogden	(in 1895), Harrow.		H. C. Pilkington	
120	B. J.T. Bosang	net(in 1896), Eton.		E. Crawley	
				E.N.S. Crankshaw	
		(in 1886). Eton.			(

In making his 183 Boles set up a new record for the match, beating the 152 obtained in 1841 by Emilius Bayley, now the Rev. Sir John Robert Laurie.

			2nd inns.	
	M.C.C. AND GROUND HIGHGATE SCHOOL	199 83		Won by 116 runs. *Three wickets.
July 11, 12, Warwick	M.C.C. AND GROUND GENTLEMEN OF WARWICKSHIRE	218 134	96* 213†}	Drawn. *No wicket. †Six wickets. Dcld.
July 11, 12, Sandiway {	M.C.C. AND GROUND SANDIWAY	327 225		Drawn *Five wickets down.
$\frac{\text{July 12,}}{\text{Weybridge}} \dots $	M.C.C. AND GROUND OATLAND PARK	164 163	= }	Won by 1 run.
July 13, 14, Market Drayton. {	M.C.C. AND GROUND MARKET DRAYTON	84 164	157* <sub>76</sub> }	Won by six wickets. *Four wickets down.
July 13, Dulwich {	M.C.C. AND GROUND DULWICH COLLEGE	399* 119	= }	Won by 280 runs. *Eight wickets down.
	M.C.C. AND GROUND RADLEY COLLEGE	243* 152	=}	Won by 91 runs. *Seven wickets down.
Bedford \	M.C.C. AND GROUND GRAMMAR SCHOOL	222 85	} 126* }	Won by 137 runs. *Three wickets down.
July 14, Catford	M.C.C. AND GROUND MERCHANT TAYLORS SCHOOL	265* 62	1	Won by 203 runs. *Seven wickets. Dcld. †Seven wickets down.
July 15, 16, Market Drayton.	M.C.C. AND GROUND GENTLEMEN OF STAFFORDSHIRE	383 119	-	Won by an innings and 69 runs.
July 15, Beckenham {	M.C.C. AND GROUND BECKENHAM	332* 247	=}	Won by 85 runs. *Eight wickets down.
July 16, Cricklewood {	M.C.C. AND GROUND SOUTH HAMPSTEAD	327 119	= }	Won by 208 runs.

July 16, Horley	M.C.C. AND GROUND HORLEY	324* — }	Won by 114 runs. *Four wickets down.
July 18, 19, BurySt. Edmund	M.C.C. AND GROUND BURY AND WEST SUFFOLK	303 59*) 225 272	Drawn. *Six wickets down.
July 18, 19, Lord's	M.C.C. AND GROUND ROYAL NAVY	320 188 213 297*	Lost by six wickets. *Four wickets down.
July 18, 19, 20, Crystal Palace {	M.C.C. AND GROUND LONDON COUNTY See London Coun	189 185 392 — }	Lost by an innings and 18 runs.
July 20, 21, Lord's	M.C.C. AND GROUND ROYAL ARTILLERY	280 341* 279 221†}	Drawn. *Nine wickets. Deld. †Four wickets down.
July 20, Horley {	M.C.C. AND GROUND BURSTOW SCHOOL	169 — }	Lost by 129 runs. *Six wickets down.
July 20, { Maidstone	M.C.C. AND GROUND MOTE PARK C.C	378* — }	Won by 291 runs. *Six wickets down.
July 20, Sideup {	M.C.C. AND GROUND SIDCUP	302 — }	Won by 48 runs.
July 21, Goddington {	M.C.C. AND GROUND Goddington	98 113* 342† }	Lost by 244 runs. *Six wickets down. †Five wickets. Deld.
July 21, 22, St. Albans {	M.C.C. AND GROUND HERTFORDSHIRE	$\frac{301}{119}  \frac{-}{91} $ }	Won by an innings and 91 runs.
July 21, 22, Burghley Park	M.C.C. AND GROUND BURGHLEY PARK	251 17* 55 211	Won by nine wickets.  *Two wickets down.  Twelve a-side.
July 22, Framlingham {	M.C.C. AND GROUND FRAMLINGHAM COLLEGE	267 — }	Won by 104 runs.
July 22, 28, Lord's	M.C.C. AND GROUND ROYAL ENGINEERS	82 <b>3</b> 26 187 226*}	Lost by seven wickets. *Three wickets down.
July 23,	M.C.C. AND GROUND ESHER	263 114* 40 — }	Won by 223 runs. *Five wickets down.
July 23, Hampstead {	M.C.C. AND GROUND	218 — 67 11 <b>8</b> *}	Won by 151 runs. *One wicket down.
July 25, 26, Folkestone {	M.C.C. AND GROUND FOLKESTONE	289 <del>-</del> }	Won by an innings and 185 runs.
July 25, 26, Lord's	M.C.C. AND GROUND HOUSEHOLD BRIGADE	238 12* 115 247†	Drawn. *Two wickets down. †Five wickets. Deld.

July 25, 26, Lincoln	M.C.C. AND GROUND LINCOLN LINDUM	inns.	2nd inns. 188* 70†	
$\begin{array}{c} \text{July 26,} \\ \text{Banstead} & \dots \end{array} \bigg\{$	M.C.C. AND GROUND	121 73	<del>78*</del> }	Won by 48 runs. *Eight wickets down.
July 26, Norbury {	M.C.C. AND GROUND NORBURY PARK	232 141	= }	Won by 91 runs.
July 27, Woodford Wells {	M.C.C. AND GROUND WOODFORD WELLS	267 67	<del></del> }	Won by 200 runs. *Two wickets down.

#### RUGBY v. MARLBOROUGH.

Played at Lord's, Wednesday, Thursday, July 27, 28.—Scott, the Marlborough captain, gained a great personal triumph at the outset, and his fine display was the main factor in his side's easy victory. Aided first by Butterworth, with whom 153 were scored in an hour and three-quarters, and later by Ireland who assisted in making 140 for the third partnership. Scott was fifth out at 328, having batted brightly for four hours. Afterwards Rugby, with the worst of the pitch, lost four wickets in scoring 127. On the second day, Burton and Sloman batted admirably for Rugby, but to no purpnse, and Marlborough won by nine wickets.

#### MARLBOROUGH.

Mr. A. P. Scott b Gordon Mr. H. M. Butterworth c Tripp b Burton Mr. N. W. Milton b Burton Mr. G. H. Ireland c Rea b Gordon Mr. H. J. Goodwin c and b Tripp Mr. E. L. Goodman b Tripp Mr. L. M. Robinson b Tripp Mr. L. A. N. Slocock c Rowe b Tripp Mr. N. T. White c Ruault b Tripp Mr. G. C. Phillips not out Mr. H. C. Burt c Beattie b Gordon B 13, 1-b 2	1 78 — b Tripp	5
Ruc	BY.	
Mr. H. N. P. Sloman b Robinson Mr. J. G. Rea b Robinson Mr. T. Bowring st White b Goodwin Mr. R. M. Chadwick c and b Phillips Mr. G. C. Tripp st White b Robinson Mr. D. C. F. Burton hit wkt b Goodwin Mr. J. E. Gordon c and b Goodwin Mr. K. T. Cox c Goodwin b Scott Mr. C. E. Ruault not out Mr. H. F. Beattie b Scott Mr. F. C. Rowe b Scott B 17, l-b 1, w 1, n-b 2	19 — c White b Scott       2         10 — c Goodwin b Scott       2         46 — c Phillips b Goodman       1         5 — c Goodwin b Phillips       2         83 — lbw, b Goodwin       4         3 — b Butterworth       1         14 — c Ireland b Goodwin       1         17 — b Goodwin       0         0 — c and b Goodwin       0         0 — not out       0	4 0 0 1 8 0 7 9 0
	221 20	3

71.0	N	1	BA . 1	
LVI.	U.	U.	Match	ies

-	
RUGBY	BOWLING.

Harley Alleria	Overs	Mdns.	Runs	Wkts.		Overs	Mdns.	Runs	Wkts.
Beattie		0	66	0			2	18	0
Ruault	. 12	1	40	•			0	10	0
Bowring	. 14	1	40	^		•	0	10	0
Gordon	. 22	6	53	9	• • • •	4	U	1	0
Tripp	99	ĭ	71	2		0	0		56
Burton	01	- P		0 .			2	8	1
Obadanial	. 21	4	59	2 .		. 2	0	9	0
Chadwick	. 4	0	14	0 .		3	1	8	0
		MARL	BOROUG	н Bowr	LIN	3.		192 T	ST.
Burt	. 14	3	45	^		70	Date Bridge		
Robinson				-		13	4	21	0
Cooling	21	5	52	3 .		4	1	13	0
Goodwin	. 22	3	54	3 .		16.5	4	46	5
Phillips	. 9	4	19.	1		9	i i	32	1
Goodman	. 9	4	20	_		13	7	17	î
Milton	. 1	1	0	Ů.		10	Cine wie	11	7
Scott	. 8.5	3	10	3 .		24	9	42	2
			В	utterwo	rth	5	3	11	1

#### Umpires: A. Pike and Woodcock.

$\begin{array}{c} \text{July 27,} \\ \text{Beddington} \dots \end{array} \Big\{$	M.C.C. AND GROUND BEDDINGTON	inna	2nd inns. — }	Result. Won by 47 runs.
July 27, Croydon {	M.C.C. AND GROUND	239 106	= }	Won by 133 runs.
July 28, Lee	M.C.C. AND GROUND NORTHBROOK	156 119	105*}	Won by 37 runs. *Eight wickets down.
July 28, Chiswick {	M.C.C. AND GROUND CHISWICK PARK	153 191	= }	Lost by 38 runs.
July 29, Groydon {	M.C.C. AND GROUND WHITGIFT GRAMMAR SCHOOL	107 34	167* 23†	Won by 73 runs. *Five wickets. Dcld. †One wicket down.
$\begin{array}{c} \text{July 29, 30,} \\ \text{Cheltenham} \dots \end{array} \Big\{$	M.C.C. AND GROUND EAST GLOUCESTERSHIRE	94 30	<del>-</del> }	Won by an innings an 25 runs.
July 29, Surbiton {	M.C.C. AND GROUND	333 8 <sup>+</sup>	= }	Drawn. *One wicket down.

## CHELTENHAM v. HAILEYBURY.

Played at Lord's, Friday, Saturday, July 29, 30.—Hainst Bury.

of the luck throughout, for the rain, which stopped play on Friday soon after five o'clock, ruined the pitch for Cheltenham on the second day. It is only fair to say, however, that while the ground remained fast Cheltenham were always at a dicadvantage, and had five wickets down for 54 at the close of the first stage. On the Saturday their ill-luck pursued them, and on following on all hope of averting defeat was lost when four wickets fell for four runs. Haileybury won by an innings and 41 runs.

HAILEYBURY.	
Mr. G. N. Bignell c Rawson b Brett 51       Mr. J. D. Legge b Benson         Mr. G. H. Rigby b Brett       1         Mr. F. Frewer c and b Benson       33         Mr. A. Howard b Benson       31         Mr. N. S. Bostock b Brett       11             Mr. J. D. Legge b Benson         Mr. R. J. Dibdin not out         B 7, 1-b 3, w 2         1         22	1 4 4 12
CHELTENHAM.	
Mr. A. C. Tennant b Bignell	2
man       27 — c Rigby b Bignell         Mr. M. G. Salter c and b Heymann       0 — c Bond b Bignell         Mr. G. G. Rawson b Bignell       3 — c Rigby b Heymann         Mr. D. R. Peel c Bignell b Heymann       14 — st Stokes b Bostock       2         Mr. J. I. Piggott b Heymann       3 — c Macandrew b Heymann         Mr. D. P. Dickinson not out       8 — c Frewer b Heymann         Mr. J. E. J. Tayler run out       1 — c Macandrew b Bostock         Mr. H. L. Benson run out       22 — c Heymann b Bostock         Mr. C. T. Brett c Rigby b Heymann       0 — not out         Mr. E. A. Smythies b Heymann       11 — b Heymann	0 1 34 28 3 0 1 5 1 1 7
99	33
CHELTENHAM BOWLING.	
Overs Mdns. Runs Wkts. Overs Mdns. Runs Wkts	q
Peel.     13     6     32     0       Brett     28     5     75     5       Smythies     9     1     21     0       Benson     27     6     64     5       Mackenzie     4     0     11     0       Piggott     2     0     8     0	1
HAILEYBURY BOWLING.	
Heymann 19.4 4 53 6 9.4 5 20 5 Macandrew 3 0 15 0	
Bignell	
$egin{array}{cccccccccccccccccccccccccccccccccccc$	
Umpires: T. Mycroft and J. Carlin.	
1st 2nd inns. Result.	
$\begin{array}{c} \text{July 30,} \\ \text{High Wycombe} \left\{ \begin{array}{l} \text{M.C.C. and Ground} & & 147^* & -\\ \text{High Wycombe.} & & 14\dagger & -\\ \end{array} \right\} \\ \text{*Eight wickets. Deld.} \\ \text{†One wicket down.} \end{array}$	
July 30, $\left\{\begin{array}{ll} \text{M.C.C. and Ground} & & 26^* & - \\ \text{Maidenhead} & & 62 & - \\ \end{array}\right\}$ Drawn. *Five wickets down.	
August 1, $\left\{\begin{array}{lll} \text{M.C.C. AND GROUND} & & 106 & -\\ \text{Harrow} & & & 183 & -\\ \end{array}\right\}$ Lost by 77 runs.	
August 1, 2,	

# PUBLIC SCHOOLS IN 1904.

The following are the principal Public School Matches played last summer, with the exception of those that took place at Lord's, which are given in the M.C.C. review, and those of the Haverford College Team, which are given by themselves further on in the book.

#### ELTHAM COLLEGE v. MILL HILL SCHOOL.

Played at Eltham, Saturday, May 21.—The match was drawn.

#### MILL HILL SCHOOL.

G. J. Lethem c Lloyd b Bradford . 0 N. A. Dore c Gardebrown b Poole . 19 D. L. Morgan run out	Byes, &c. 14  C. W. Bywaters G. S. Brown M. H. Kemsley J. A. Taylor  did not bat
*Innings decl	ared closed.
ELTHAM (	College,
A. D. Curtis c Peill b Walker 0 T. A. Bradford not out 48 N. D. Williams c Bywaters b Peill 5 H. T. Cavanagh run out 4 D. F. Barber not out 18 Byes, &c. 7	L. R. Jackman H. S. Poole L. Bell R. G. Chandler E. St. G. Gardebrowne H. Lloyd
82	

## ST. JOHN'S SCHOOL, LEATHERHEAD v. ALDENHAM SCHOOL.

Played at Leatherhead, Saturday, May 21.—Aldenham School won by 36 runs. A. P. Gray bowled very well, taking five wickets for 16 runs.

#### ST. JOHN'S SCHOOL.

J. F. Barton b Whitaker A. O. Evans c W.A. Gray b A.P. Gray R. R. R. Fletcher b Whitaker R. E. A Ingram b Whitaker W. Manning b Whitaker W. J. C. Armstrong b A. P. Gray F. C. Lawrence b A. P. Gray	5 6 2 4 2	T. E. Williams b A. P. Gray G. F. Sharp b Whitaker C. D. Job b A. P. Gray F. Hopkins not out Byes, &c.	16 11 3

Pi	blic	School	Matches.
1 00		DUILUUU	TIT COULTED .

#### ALDENHAM SCHOOL.

W. A. Gray b Evans. L. J. Reid c Manning b Hopkins A. P. Gray c Ingram b Evans E. St. G. Hewetson not out J. W. Hunter c Job b Evans A. G. Seymour not out. Byes, &c.	21 2 25 0 23	W. L. Whitaker E. C. Thorneycroft A. H. Sale K. Thomas A. Jaques	} did not bat
T'S DA ISDEE LIE	109		

#### ALDENHAM SCHOOL v. MERCHANT TAYLORS' SCHOOL.

Played at Aldenham, Saturday, May 28, and resulted in a win for Aldenham School by 135 runs. W. L. Whitaker took eight wickets for 39 runs and played a fine innings.

Aldenham School.

L. J. Reid b Hammond  E. St. G. Hewetson c Elderton b  Hammond	A. Jaques c Wells b Cheeseman . 0 A. H. Sale not out
MERCHANT TAY	LORS' SCHOOL.
E. N. Fuller'c and b Whitaker 4	R. H. Wells lbw, b Dodd 8

MERCHANT	TAY	LORS' SCHOOL.	
E. N. Fuller'c and b Whitaker W. J. Cheeseman c and b Whitaker. A. L. Anderton lbw, b Whitaker T. H. Elderton c Gray b Whitaker L. F. Hammond b Whitaker J. D. Stracchan not out M. W. Sayer b Whitaker	1 0 6 15 3	R. H. Wells lbw, b Dodd F. Sanders c and b Whitaker J. P. Jamieson c Jaques b Sale G. Sanders c and b Whitaker Byes, &c.	0 6 8

#### EPSOM COLLEGE v. CRANLEIGH SCHOOL.

Played at Epsom, Saturday, May 28.—Resulted in a win for Cranleigh School by 33 runs.

CRANLEIGH SCHOOL.

F. Winslow b T. Gibson	H. B. G. Russell c Marsh b Neald 0 G. E. R. Slade st Marsh b Stubbs 4
N. Blake lbw, b Longstaff 0	F. O. N. Burn run out
H. W. Young b Neald 16	H. A. Cressall hit wkt, b Sholl 12
R. G. Chandler b Neald 12	Byes, &c 8
G. M. C. Taylor not out 38	
A. C. Baker b T. Gibson 0	148

EPSOM	College.
W. Weir lbw, b Young       6         C. W. Neald b Young       2         E. C. Stubbs b Young       0         C. Gibson lbw, b Blake       23         G. T. Sholl c Slade b Cressall       13         T. G. Gibson c Chandler b Cressall       1         W. H. Eggar not out       31	G. L. Vivian b Cressall

## ST. JOHN'S SCHOOL, LEATHERHEAD, v. FOREST SCHOOL.

Played at Leatherhead, Saturday, May 28.—Leatherhead gained a brilliant victory by 220 runs.

St. John's School, Leatherhead.

SI. JOHN S SCHOOL	L, LEATHERHEAD.
J. F. Barton b Watson 47	Byes, &c 22
A. O. Evans b Bonsey 35	
W. J. C. Armstrong b Watson 6	*259
W. Manning not out 74	200
D. C. Rossar lbw, B. Bonsey 29	R. E. A. Ingram
E. C. Lossar IDW, B. Bollsey 29	T. E. Williams did not bat.
F C. Lawrence b Whitcombe 5	G. F. Sharp
R. R. R. Fletcher not out 41	F. Hopkins
*Innings dec	lared closed.
Ti	The Company and Asia and account to
FOREST S	
A. J. Waugh c and b Evans 1	A. Turner c and b Armstrong 3
W. L. Johnson lbw, b Evans 1	D. J. T. Dawson b Armstrong 1
H. R. Bonsey run out 5	C. F. B. Smith not out 0
G. K. Watson b Armstrong 11	R. R. Whitcombe b Armstrong 2
R F. V. Pryke c Ingram b Evans 7	Byes, &c 2
A. M. Bentin b Armstrong 0	Dj cs, wo
H. C. Henley b Armstrong 6	00
i. C. Hemey b Armstrong 0	39
R TOWNSHIP A THOUGHT TO BE	The second secon

#### CRANLEIGH SCHOOL v. ST. JOHN'S, LEATHERHEAD.

Played at Cranleigh, Wednesday, June 1.—The game was abandoned soon after lunch owing to heavy rain.

8	
St. John'	s School.
J. F. Barton c Young b Burne	G. F. Sharp b Blake

t bat.

#### CHRIST'S HOSPITAL v. CRANLEIGH SCHOOL.

Played at West Horsham, Saturday, June 4.—Cranleigh School won by 34 runs. Hyett played a good innings.

Christ's I	HOSPITAL.
G. B. Jackson b Chandler 0	G. Hellings lbw, b Cressall 0
H. E. Hyett c Blake b Burne 48	H. Rouse b Cressall 2
F. W. Stewart b Chandler 11	P. G. Knappett c Winsloe b Burne 9
H. J. B. Dew b Chandler 2	C. E. R. Alban not out 1
P. W. Spendlove lbw, b Cressall 6	Byes, &c 10
J. de R. Phillip b Blake 4	The state of the s
M. H. Knowles b Cressall 1	94

416

#### Public School Matches.

#### CRANLEIGH SCHOOL.

F. Winsloe b Knappett 28 S. E. M. Lawrence c Jackson b Phillip 0	G. E. R. Slade not out 6 Byes, &c 9
G. M. C. Taylor b Hyett 41 H. W. Young b Spendlove 5	H. B. G. Russell
N. Blake not out	H. A. Cressall F. O. N. Burne

#### HIGHGATE SCHOOL v. ALDENHAM SCHOOL.

Played at Highgare, Saturday, June 4, and resulted in a victory for Aldenham by 136 runs.

#### HIGHGATE SCHOOL.

A. M. Neal c and b Whitaker 0	A. C. Fendick not out 5
A. P. Sayer c Reid b Whitaker 3	R. C. Sargant b A. P. Gray 1
N. Y. Cox b A. P. Gray 6	G. D. Owen b Whitaker 3
G. R. Sayer b Whitaker 30	A. Barker b Whitaker 0
A. B. Lushington run out 8	Byes, &c 12
D. S. Maclure b A. P. Gray 9	PERSONAL OF URANIES OF THE PROPERTY -
W. C. Honeyball b A. P. Gray 5	dies ynaed or private delies to 77
AI DENUA	M SCHOOL

ALDENHAM SCHOOL.		
E. St. G. Hewetson c and b Sayer. 56 L. J. Reid b Cox 0 W. A. Gray lbw, b Lushington	E. C. Thorneycroft not out	

#### MILL HILL SCHOOL v. BEDFORD MODERN SCHOOL.

Played at MILL HILL, Saturday, June 4, and resulted in a win for Mill Hill by 35 runs.

#### MILL HILL SCHOOL.

G. S. Brown b E. C. Oliver	H. Walker b E. C. Oliver
D. L. Morgan b Jones 1	Agental book a beauty track

#### REDECED MODERN SCHOOL

DEDFORD M	ODDING COHOOL.
E. C. Oliver c Morgan b Walker 9	J. O. Franklin b Kemsley 0
R. E. H. Oliver c Brown b Walker 7	
R. M. W. Marsden c and b Peill 4	
K. R. B. Walker c Spicer b Peill 8	C. E. Creasy c Dore b Peill 5
A. H. Towers st Bywaters b Peill 0	
F. G. Driver b Peill	
E. D. Jones c and b Kemsley 12	83

## MERCHANT TAYLORS' SCHOOL v. FOREST SCHOOL.

Played at Bellingham, Saturday, June 4, and resulted in a draw.

MERCHANT TAYLORS' SCH	HOOL.	
E. N. Fuller c Johnson b Bonsey 14 J. P. Ja D. I. Cheesman b Bonsey 4 R. H. V J. H. Elderton b Waugh 1 G. Sand A. L. Anderton b Bonsey 19 J. D. St	amieson not out       22         Veils run out       1         ders c Morris b Watson       9         trachan b Watson       0         ps, &c.       9	
	80	
FOREST SCHOOL.		
A. J. Waugh b Wells	lenley not out 10	
H. R. Bonsey b Sayer 5 R. R. W	orrisc Elderton b Hammond 0	
	Thit combe not out 10	
R F N Pryles b Hammand	es, &c 11	
R. F. N. Pryke b Hammond 2 D. J. S. Dawson b Hammond 5	T. R. Walterson-Names and M. S.	
	72	
A. M. Bentin b Hammond 1   C. F. B.	Smith did not bat.	

## ST. JOHN'S SCHOOL, LEATHERHEAD, v. EPSOM COLLEGE.

Played at LEATHERHEAD, Saturday, June 4.—The home team won a very exciting game by six runs.

St. John's Schoo  J. F. Barton c Stubbs b Longstaff. 49  A. O. Evans lbw, b Sholl 9  F. C. Lawrance b Sholl 0  W. Manning c Longstaff b Gibson 47  R. E. A. Ingram lbw, b Sholl 4  R. R. R. Fletcher b Neild 7  O. C. Rosser b Longstaff 1	L, LEATHERHEAD.  G. F. Sharp c Marsh b Weir 3 F. Hopkins c Marsh b Gibson 5 W. J. C. Armstrong b Sholl 4 T. E. Williams not out 8 Byes, &c. 9	
EPSOM COLLEGE		
W. Wier c Rosser b Evans       4         E. C. Stubbs not out       57         G. T. Sholl b Evans       0         C. Gibson b Evans       2         C. W. Neild c Barton b Hopkins       29         W. H. Eggar b Evans       30         G. Lawrence c Ingram b Armstrong       1         G. L. Vivian run out       5	H.R.Longstaff c Rosser b Armstrong 7 O. de B. Marsh c Williams b Armstrong 0 H. O'Nearn b Evans 0 Byes, &c. 5	

## KING'S SCHOOL, CANTERBURY, v. FELSTED SCHOOL.

Played at Canterbury, Tuesday, June 7, and ended in a victory for Felsted by 88 runs. Preeston and Jewell put on 176 for the second wicket, and C. Murray-Shirreff took six wickets for 38 runs.

FELSTED	SCHOOL.
A. M. Downton lbw, b Dunlop 28	J. L. Beaumont not out 20
A. N. Jewell b Strahan	A. R. Thomas not out
R. S. Preeston c Strahan b Prest .101	Byes, &c 18
J. S. Youle c Anderson b Bassett 14 H. M. Hankin c Tomlin b Prest 31	H. B. G. Hawston b Walson and H.
V. L. G. Davies b Strahan 0	*340
C. MShirreff c Anderson b Strahan 8	C. H. Douglas J. C. Gammon  did not bat.
*Innings decl	o. C. Gaillinon

Public	School	Matches.
1 00000	201000	THE WOULDES.

#### KING'S SCHOOL.

J. L. Tomlin b Preeston	G. C. Strahan b MShirreff. 9 A. Gillibrand b Douglas 18 H. H. Hayes not out 3 J. B. Wickham b MShirreff 0 Byes, &c. 38
O. F. Huyshe b MShirreff       88         C. M. Dunlop b Preeston       7	252

#### BEDFORD MODERN SCHOOL v. BEDFORD COUNTY SCHOOL.

Played on the Modern School Ground, Bedford, Thursday, June 9, and resulted in a draw.

	BEDFORD	COUNTY	SCHOOL.
--	---------	--------	---------

A. E. Holmes-Brown c E. C. Oliver	G. C. Pohlmann not out 31
b Jones113	Byes, &c 15
R. E. H. Saffery lbw, b Walker 26	present in decrement of many of /V
G. Brent-Steytler b R. E. Oliver 1	*264
P. Gaminara c Hatton b Creasy 23	R. C. Barreins I. A. P. Gray
G. E. Grant c Walker b E. C. Oliver 8	E. Bailey
G. C. Claridge b R. E. Oliver 33	M. J. Molyneux   did not bat.
E. W. Floyer not out	H. H. Playford
	clared closed.

Bedford Moi	DERN SCHOOL.
E. C. Oliver b Grant	Byes, &c
The State of the Control of the Cont	

#### ALDENHAM SCHOOL v. FOREST SCHOOL.

 $Played\ at\ Aldenham,\ Saturday,\ June\ 11th,\ and\ won\ by\ Aldenham\ by\ 70\ runs.$  Waugh and Gray batted well for their respective sides.

#### FOREST SCHOOL.

A. J. Waugh not out	A. M. Bentin c and b Whitaker 4 A. Turner b W. A. Gray 1
Gray 8	R. R. Whitcombe c W. A. Gray b
H. R. Bonsey c A. P. Gray b Whit-	Whitaker 2
aker 6	C. F. B. Smith c Jaques b Whitaker 1
G. R. Watson c Seymour b Whitaker 4	A. G. Morris b Sale 9
R. F. N. Pryke c W. A. Gray b A. P.	Byes, &c 15
Gray 2	140
D. J. S. Dawson b W. A. Gray 9	140
AU 00100	Correct

#### ALDENHAM SCHOOL.

.... 19 210

W. A. Gray b Bonsey	Byes, &c	
A. G. Seymour c Bentin b Watson 13		
E. St. G. Hewetson b Watson 14		
L. J. Reid e Smith b Bonsey 47	R. C. Bass	
W. L. Whitaker not out 26	A. H. Sale did not ba	+
J. W. Hunter not out 5	H. J. Dodd	L.
A. P. Grav c Watson b Bonsey 13	A. Jaques	

## DOVER COLLEGE v. SUTTON VALENCE SCHOOL.

Played at Dover, Saturday, June 11.—Dover College won by 188 runs.

#### SUTTON VALENCE SCHOOL.

J. M. Druce b W. Digby 3 R. G. Kingdon b Smith 1 L. Saunderson b W. Digby 4 F. A. Thew b W. Digby 7 P. W. Tabrum run out 9 V. C. Lowry b W. Digby 0 E. W. Pritchard b W. Digby 6 T. E. Kay not out 8	E. Hambloch b Smith 11 D. G. Urmson b W. Digby 5 R. H. F. Richardson c Poland b W. Digby 6 Byes, &c. 11	
Dover College.		
T. H. Digby c Urmson b Kay       23         R. B. G. Munns c Lowry b Thew       2         F. A. C. Munns lbw, b Urmson       20         W. E. S. Digby b Lowry       48         L. Jones run out       5         J. B. Henderson-Roe c Pritchard b       42         J. Vance b Key       2	M. Poland b Lowry 5 E. A. T. Taylor not out 85 T. B. Smith b Urmson 9 H. F. Blackwood b Urmson 7 Byes, &c. 11  259	

#### OAKHAM SCHOOL v. TRENT COLLEGE.

 $Played\ at\ {\tt OAKHAM},\ Saturday,\ June\ 11.— {\tt Oakham}\ won\ by\ 36\ runs.$  Hill took seven wickets for 25 runs.

#### TRENT COLLEGE.

R. N. Woodsend lbw, b Lindley       4         E. A. Corfield c and b Hill       14         J. C. D. Kett b Hill       0         K. R. G. Hunt b Hill       10         E. F. Stokes c ard b Hill       21         H. Mainwaring lbw, b Hill       0         J. K. Rooker c Franckel b Hill       12	D. Hoole b Hill	1 0 3 9 -
Оакнам	SCHOOL.	
J. P. Walker c Rooker	C V D Fileell b Vott	

Оакнам	School.
J. P. Walker c Rooker 25 D. L. G. Williams c Hunt b Rooker 2 F. H. Jerwood c Hunt b Kett 18 A. C. Lindley b Rooker 0 A. T. Hill b Bennett 24 D. Mallain run out 0 R. K. Weatherell b Kett 3	G. V. P. Filsell b Kett

#### CHELTENHAM COLLEGE v. MARLBOROUGH COLLEGE.

Played at Cheltenham, Tuesday, Wednesday, June 14, 15.—After a capital game the match ended in a draw. Some excellent batting was shown, Milton, Salter, and Taylor being in fine form.

#### MARLBOROUGH COLLEGE.

MARLBURUUGH C	OLLEGE.
A. P. Scott b Brett       59         H. M. Butterworth b Brett       37         G. C. Phillips b Brett       2	- run out 6
N. W. Milton st Taylor b Smythies	- b Woodiwiss
L. A. N. Slocoek c and b Smythies 31 H. J. Goodwin b Peel 48	- not out
A. Patteson c Dickinson b Smythies 17 C. H. Fair not out 2	— c Rawson b Mackenzie 13
L. C. Bostock lbw, b Smythies	Byes, &c 4
295	*99
* Innings declar	ed closed.
CHELTENHAM Co	OLLEGE.
M. G. Salter lbw, b Bostock	— not out
219	122

#### FOREST SCHOOL v. EPSOM COLLEGE.

Played at Snaresbrook, Tuesday, June 14.—The match ended in a draw.

#### FOREST SCHOOL.

A. J. Waugh c Longstaff b Scholl 31 W. L. Johnson c Davidson b Nield 0 H. R. Bonsey b Nield 4 D. J. S. Dawson c Weir b Gibson 26 R. F. A Pryke b Longstaff 18 A. J. Morris c Longstaff b Gibson 2 H. C. Henley c Gibson b Longstaff 0	R. R. Whitcombe b Gibson       20         G. Jenkins b Sholl       8         C. F. B. Smith not out       19         A. D. Nichols b Scholl       0         Byes, &c.       16         144
Epsom C	OLLEGE.
W. Weir c Johnson b Bonsey       10         E. C. Stubbs c Bonsey b Waugh       4         G. N. Scholl c Waugh b Henley       32         C. W. Neild b Bonsey       42         C. Gibson b Bonsey       6         K. Davison not out       26         T. G. Gibson not out       6         Byes, &c.       5	G. L. Davison L. V. Neligan H. R. Longstaff E. A. Saunde
121	

## BRIGHTON COLLEGE v. CHRIST'S HOSPITAL.

Played at BRIGHTON COLLEGE, Wednesday, June 15, and resulted in a win for the home team by 96 runs. A. W. Shallow hit hard, his innings including ten 4's, while Belcher, in the first innings took six wickets for 27 runs.

#### CHRIST'S HOSPITAL.

H. E. Hyett b Morrice P. W. Spendlove b Morrice F. W. Stewart b Belcher F. G. Drayson c Carr b Belcher G. B. Jackson b Belcher J. de R. Phillp c A. Shallow b Belcher H. T. B. Dew lbw, b Belcher P. G. Knappett b Morrice J. F. Pollard c Belcher b Morrice M. H. Knowles b Belcher J. Rowell not out Byes, &c.	1 — b Belcher 7 — lbw, b Morrice 4 — c Freeman b Morrice 1 — b Morrice 2 — not out 0 — not out 1 2 11 0 2	1
Prigramov	69 Coverno	41
BRIGHTON  G. Belcher lbw, b Spendlove	COLLEGE.  J. A. Campbell F. J. Bartley A. T. Carr J. S. Morrice S. A. Wheeler H. G. Freeman C. A. Craufurd  Clared closed.	

#### TONBRIDGE SCHOOL v. DULWICH COLLEGE.

Played at Tonbridge, Wednesday, June 15.—Tonbridge won by 147 runs.

Tonbridge School.

L. A. Shuter c Firth b Kerr       26         G. S. Bryan-Brown c Knowles b       10         Langdon       38         C. Bottome b Langdon       5         A. E. Killick b Betham       87         C. G. Wright c Leggatt b Knowles 33         N. Colley c Betham b Lindsay       35	G. Devenish c Lindsay b Knowles 7 R. H. Cock c and b Betham 16 A. C. Houlder not out 10 B. W. Pigg c Siegle b Lindsay 0 Byes, &c 10  227
Dulwich	College.
M. Lindsay b Pigg A. B. Knowles c Colley b Bottome R. B. Firth c Bryan-Brown b Cock R. G. A. Kerr c Houlder b Pigg. J. A. C. Kiddle b Bottome R. J. A. Betham b Sadler C. R. A. Siegle b Bottome A. E. S. Leggatt lbw, b Wright G. L. Betham b Sadler A. R. Thomson not out.	1 21 . 21
F. G. Langdon b Wright Byes, &c.	. 11 Byes, &c 8
	80 16

#### R.M.A., WOOLWICH v. R.M.C., SANDHURST.

Played at eight wickets.	Woolwich,	Friday,	Saturday,	June	17,	18.—Sandhurst	won	by
--------------------------	-----------	---------	-----------	------	-----	---------------	-----	----

	***		
R.M.A	., Woolw	ICH.	
M. H. McConnel c Howell b Muir	42	- c Baggallay b White	40
E. G. Howlett b Brooks	20 -	- c Atchison b Muir	0
A. J. Collins c Middlemass b Muir .	35 -	- c Baggallay b Brooks	3
F. R. R. Brooks b Muir	33 -	b Brooks	. 11
T. F. Sandeman b Muir	8 -	- b Muir	20
W. H. A. Hunt b Brooks	11 -	- not out	. 13
R. H. Allon c Baggallay b Muir	0 -	- b Muir	32
P. G. Huddleston b Brooks	1 -	- b Brooks	. 0
F. S. Collins c Baggallay b Muir	0 -	- b Muir	0
J. H. Moore not out	13 -	- b Muir	19
J. M. Dickson c Toynbee b Middlema	ss 22 -	- c and b Muir	6
Byes, &c	25	Byes. &c.	20
		<b>-,</b> or, nor	
	210		164
D.W.O.	C		
C Marris has not out	., SANDHU	RST.	
G. Toynbee not out	81 -	- not out	90
G. Toynbee not out A. C. Bird b Howlett	81 -	- not out	37
G. Toynbee not out A. C. Bird b Howlett G. Howell c Brooks b Huddleston	81 - 6 - 12 -	- not out	37
G. Toynbee not out A. C. Bird b Howlett. G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson	81 - 6 - 12 - 53	- not out	37
G. Toynbee not out A. C. Bird b Howlett G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins	81 6 12 53 0	– not out – b Huddleston – c and b Huddleston	37
G. Toynbee not out A. C. Bird b Howlett G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel	81 – 6 – 12 – 53 0	– not out – b Huddleston – c and b Huddleston	37
G. Toynbee not out A. C. Bird b Howlett G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel	81 - 6 - 12 - 53 0 6 - 21	– not out – b Huddleston – c and b Huddleston	37
G. Toynbee not out A. C. Bird b Howlett. G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel G. Middlemass c Huddleston b Allen	81 - 6 - 12 - 53 0 6 - 21	– not out – b Huddleston – c and b Huddleston	37
G. Toynbee not out A. C. Bird b Howlett. G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel G. Middlemass c Huddleston b Allen F. Atchison b Allen	81 6 12 53 0 6 21 14	– not out – b Huddleston – c and b Huddleston	37
G. Toynbee not out A. C. Bird b Howlett. G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel G. Middlemass c Huddleston b Allen F. Atchison b Allen R. Simson c Collins b Dickson	81 - 6 - 12 - 53 - 0 - 6 - 21 - 14 - 5 - 0	– not out – b Huddleston – c and b Huddleston	37
G. Toynbee not out A. C. Bird b Howlett G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel G. Middlemass c Huddleston b Allen F. Atchison b Allen R. Simson c Collins b Dickson A. White b McConnel	81 - 6 - 12 - 53 - 0 6 - 21 - 14 - 5 0 3	- not out	37
G. Toynbee not out A. C. Bird b Howlett. G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel G. Middlemass c Huddleston b Allen F. Atchison b Allen R. Simson c Collins b Dickson	81 - 6 - 12 - 53 - 0 6 - 21 - 14 - 5 0 3	– not out – b Huddleston – c and b Huddleston	37
G. Toynbee not out A. C. Bird b Howlett G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel G. Middlemass c Huddleston b Allen F. Atchison b Allen R. Simson c Collins b Dickson A. White b McConnel	81 - 6 - 7	- not out	37 15 8
G. Toynbee not out A. C. Bird b Howlett G. Howell c Brooks b Huddleston E. Kenny c Sandeman b Dickson R. Baggallay b Collins A. H. Muir b McConnel W. T. Brooks lbw, b McConnel G. Middlemass c Huddleston b Allen F. Atchison b Allen R. Simson c Collins b Dickson A. White b McConnel	81 - 6 - 12 - 53 - 0 6 - 21 - 14 - 5 0 3	- not out	37

## LANCING COLLEGE v. HURSTPIERPOINT COLLEGE.

Played at Lancing, Saturday, June 18.—Lancing won easily by 236 runs.

Lancing College.

C. H. Wade c Turner b Currie	L. Stephens c Rogers b Smiles
Hurst	College.
C. Langton c Wade b H. Greenfield 0 R. H. Webb c Wade b H. Greenfield 0 R. Turner b Stephens	H. R. Heldmann c Mathieson b H.  Greenfield 15  F. C. Currie run out 6  F. Farden b Stephens 13  J. Arbington c Brisley b H. Greenfield 8  R. C. Petherbridge not out 2  Byes, &c. 8

## MERCHANT TAYLORS' SCHOOL v. LEYS SCHOOL.

Played at Bellingham, Saturday, June 18.—After a keenly contested match, Merchant Taylors won by 21 runs.

#### MERCHANT TAYLORS' SCHOOL.

E. N. Fuller st Brooksbanks b Tebbutt 74 W. J. Cheeseman b Tebbutt 8 F. Sanders lbw, b Rees 8 H. L. Anderton run out 1 L. F. Hammond c Brooksbanks b Lee 0 T. H. Elderton b Lee 31 R. Meldrum b Tebbutt 2	J. P. Jamieson c Holloway b Lee. 1 M. W. Sayer c and b Lee. 3 R. H. Wells not out 1 G. Sanders c Scott b Tebbutt. 0 Byes, &c. 12  141
LEYS S	CHOOL.
H. C. Tebbutt c and b Hammond. 11 H. H. Scott c Anderton b Jamieson 8 B. H. Holloway b Hammond. 2 W. H. Gurnton b Cheeseman. 50 L. Calvert c Elderton b Sayer 13 F. C. Pyman b Wells. 5 H. Hosken b Cheeseman 11	R. J. Rees lbw, b Hammond 6 H. Carrington run out

## SHERBORNE SCHOOL v. ST. PAUL'S SCHOOL.

Played at Sherborne, Saturday, June 18.—Sherborne won by 127 runs.

#### SHERBORNE SCHOOL.

J. Homfray lbw, b Bolter       28         Rawlins c Gadsden b Wakeling       20         R. W. Jesson b Munton       5         A. H. Ross c Montgomery b Bolter       3         W. S. Horton c and b Johnson       19         E. F. Bond c Johnson b Munton       32         Bull b Bolter       13         L. J. Williams lbw, b Wakeling       9	D. G. Campbell b Wakeling 24 H. G. May not out 4 A. R. Gibbs c Bewster b Bolter 0 Byes, &c 23  180
St. Paul's	SCHOOL.
B. M. Wakeling c Homfray b Jesson C. A. Bolter st May b Jesson H. G. Geary hit wkt, b Gibbs G. C. Smyth c May b Jesson W. A. Johnson b Gibbs F. H. Robbins b Jesson V. R. Munton b Jesson F. W. Bewster lbw, b Jesson B. L. Mongomery st May b Jesson H. B. Brown st May b Jesson G. H. Gadsden not out Byes, &c.	15 — run out 0 1 — not out 38 3 — b Campbell 44 8 1 0 2 1 7 10 3

## Public School Matches.

# WELLINGBOROUGH GRAMMAR SCHOOL v. BEDFORD COUNTY SCHOOL.

Played at Wellingborough, Saturday, June 18, the visitors just saving the game.

WELLINGBOROUGH	GRAMMAR SCHOOL.
F. E. Hemingway b Molyneux 27 C. C. Simpson c Grant b Molyneux114 H. Chalcraft b Molyneux 6 A. H. Fabling b Gaminara 16	G. R. Hammond not out 22 A. W. Brawn not out 12 Byes, &c. 39
D. A. Macpherson c and b Attwood 30 F. Ward c Attwood b Gaminara 68 A. Barton c Steytler b Attwood 1	F. E. Tayler V. H. Wardle did not bat.

#### \* Innings declared closed.

#### BEDFORD COUNTY SCHOOL

BEDFORD COU	NTY SCHOOL.
A. E. Holmes-Brown c Barton b Wardle 6 E. H. Saffery c Barton b Simpson 11 S C. Claridge b Simpson 34 G. C. Grant c Barton b Simpson 0	G. C. Pohlmann b Brawn 15 M. J. Molyneux b Tayler 17 E. Bailey lbw, b Tayler 0 Byes, &c. 23
G. Brent Steytler b Tayler       14         E. M. Flayer b Wardle       6         P. Gaminara not out       29	J. R. C. Attwood did not bat.

#### MERCHANT TAYLORS' SCHOOL v. BRIGHTON COLLEGE.

Played at Bellingham, Tuesday, June 21.—The match resulted in a win for Brighton College by 68 runs.

#### BRIGHTON COLLEGE.

G. Belcher b Sayer D. S. Shallow lbw, b Sayer W. B. Blatch c Anderton b Wells A. W. Shallow b Wells J. A. Campbell c Anderton b Stafford F. J. Bartley b Cheesman A. T. Carr lbw, b Wells J. S. Morrice c Fuller b Sayer S. A. Wheeler b Sayer C. A. Crawfurd hit wkt, b Wells C. Hepworth not out Byes, &c.	1 — c Anderton b Jamieson 11 — not out	3 41 4
MERCHANT TAY	LORS' SCHOOL.	
E. N. Fuller c Blatch b Morrice 24 W. T. Cheesman b Belcher 0 F. Sanders c Hepworth b Belcher 1 A. L. Anderton c and b Belcher 6 G. Sanders b Morrice 14 T. H. Elderton c Blatch b Belcher 4 J. P. Jämieson lbw, b Morrice 0	R. Meldrum b Belcher M. W. Sayer run out R. H. Wells not out R. W. Stafford c A. Shallow b Belcher Byes, &c.	6 10

#### FELSTED SCHOOL v. HIGHGATE SCHOOL.

Played at Felsted, Wednesday, June 22.—Highgate won a most exciting match by five runs.

#### HIGHGATE SCHOOL.

G. R. Sayer b Preeston       0         C. W. Evans b Preeston       17         A. M. Neal b Preeston       2         A. B. Lushington b Thomas       2         W. C Honeyball c and b Murray-Shirreff       73         N. J. Cox lbw, b Preeston       18         D. S. Maclure b Murray-Shirreff       6	A. C. Fendick lbw, b Preeston 6 G. D. Owen c Gammon b Douglas 5 A Barker c Beaumont b Preeston 11 P. M. Taylor not out 1 Byes, &c 6  147
FELSTED	SCHOOL.
A. N. Jewell b Cox	C. Murray-Shirreff lbw, b Cox 10 A. R. Thomas c and b Cox 20 C. H. Douglas c Sayer b Honeyball 33 J. C. Gammon b Honeyball 0  Byes, &c

#### CRANLEIGH SCHOOL v. CITY OF LONDON SCHOOL.

Played at Cranleigh, Friday, June~24, and resulted in an easy win for Cranleigh by  $99~{\rm runs}$ .

#### CRANLEIGH SCHOOL.

G. M. C. Taylor b Spice 14 F. Winsloe b Wetenhall 16 N. Blake c Moloney b Spice 3 S. E. M. Lawrence run out 0 R. G. Chandler c Knight b Chapman 28 H. W. Young b Alexander 11 W. B. Cross lbw, b Wetenhall 25	G. E. R. Slade c and b Spice 18 H. A. Cressall b Wetenhall 32 G. E. James b Spice 8 F. O. N. Burne not out 1 Byes, &c. 18
CITY OF LONI	DON SCHOOL.
K. D. Leuw c Winsloe b Chandler H. T. R. Moloney run out J. A. M. Spice c Lawrence b Blake F. A. Knight b Blake A. S. Alexander b Blake W. Jones c Winsloe b Chandler	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$
W. T. Wetenhall c Blake b Chandler W. F. T. Thompson not out J. C. Chapman b Blake E. L. Dussek run out Godwin b Blake	. 4 — c Blake b Burne
Byes, &c	
	75

#### CHARTERHOUSE v. WESTMINSTER.

Played at Godalming, F.iday, Saturday, June 24, 25.—Charterhouse won handsomely by eight wickets. C. V. L. Hooman batted splendidly in both innings and Lord Somers made his runs well.

#### WESTMINSTER.

H. B. Philby c Hooman b Kemp-Welch O. H. Walters b Gooch W. J. W. Bonser b Kemp-Welch L. J. Kirkpatrick c Gilbert b Payne R. G. Gardiner c Hooman b Kemp-Welch P. T. Rawlings c Somers b Kemp-Welch E. W. D. Colt-Williams c Norman b Gilbert E. W. Lane-Clapon c Gooch b Payne F. S. Fleurett c Stranack b Kemp-Welch F. Worlock b Kemp-Welch J. K. Hepburn not out Byes, &c.	2	- c Payne b Kemp-Welch c Stranack b Gilbert 3 - b Gilbert 11 - c and b Payne 1 c Stranack b Gilbert 11 - lbw, b Gilbert 11 - lbw, b Gilbert 10 - Byes, &c. 10	47803247046
E. S. Cripps c and b Colt-Williams			0
C. A. L. Payne c Kirkpatrick b Colt-			
Williams.	12 —	not out 35	2
J. Blagrave run out C.V. L. Hooman c Fleurett b Colt-Williams	5 -	b Fleurett	1
P. H. Coleridge b Hepburn	17	100 out 42	4
F. Johnson b Hepburn	3		
Lord Somers not out	115		
H. A. Gilbert c and b Gardner	5		
M. Kemp-Welch c Philby b Gardner	0		
H. R. Stranack b Colt-Williams	0		
Byes, &c.	10	Byes, &c	,
		2500, 000,	
	-	The same of the sa	

#### ETON v. WINCHESTER.

Played at Winchester, Friday, Saturday, June 24, 25.—Showing excellent form at every point, Winchester gained a brilliant and most decisive victory by eight wickets. The cricket on the first day suggested a close match, Eton making 235 and Winchester 176 for the loss of six wickets, but on Saturday, Winchester, after getting a lead of 12 runs on the first innings, quite outplayed their opponents. Bowling and fielding well they dismissed Eton a second time for 141, and then in ninety minutes hit off the 130 runs required to win the match. On Friday, Campbell, the Eton captain, showed excellent form, but in the second innings, Astor was the only batsman to play well; seeing that he made 81 out of a total of 141, the character of his display will be readily gathered. Towards the close of the match Wright and Gordon punished some loose bowling severely, and after the winning hit was made there was a scene of great enthusiasm.

			Ето	7					
J. J. Astor c Morris E. F. Chinnery run C. G. E., Farmer Iby D. C. Boles c Bruce B. J. Blackett c Pai W. N. Tod c Evans G. C. Campbell (cap J. N. Horlick c Eva N. C. Tufnell Ibw, t C. E. Severne c Eva C. E. Hatfield c Bru Byes, &c	out y, b Evans b Youn cker b S b Youn ot.) not ns b Yo c Evans ns b Yo c b Yo	ans Bergent ger out ounger ounger ounger		18 — 24 — 26 — 49 — 6 — 11 — 62 — 12 — 13 — 7 —	- b Ev - b Yo - c Par - lbw, - c Yo - c and - c Mo - b Ser - lbw,	unger ans ker b b Ser unger d b Yo orris b rgent b Eva	Fawcus gent b Evans bunger . Younge	· · · · · · · · · · · · · · · · · · ·	0 5 18 0 9 3
				235					141
			WINCHE						171
D. M. Evans c Cam C. N. Bruce lbw, b E. L. Wright (capt. J. H. Gordon c Bol H. Teesdale not out A. V. Morris b Tod W. N. Parker lbw, l G. E. Fawcus c Tod H. G. Moore-Gwyn C. F. Younger b Sev V. L. B. Sergent c T Byes, &c.	Hatfield ) b Bole es b Ser  Boles b Horl c Camp erne ufnell b	Tod es verne ick bell b H	lorlick e	23 - 14 - 29 - 69 - 71 12 4 0 5	- c Tu - lbw, - not c - not c	fnell I b Too out . out .	Boles.	or o	21 32 53 24
									_
		100		247					131
	0		HESTER		_			_	
Vonnaga	Overs	Mdns.	Runs	Wkt		vers	Mdns.	Runs	Wkts.
Younger	29.5	11 5	62	5		26	12	35	3
Evans	22 18	5	75	2		28.3	12	54	4
Fawcus	4	2	75 10	2		13	3	35	2
Wright	4	2	8			4	0	9	1
Wright	4	-		0	I HILL				
Hatfeild	22		ron Bo		G.	0	^		^
Severne	15.4	8	64	1 3		2	0	3	0
	27	6	68	2		10	2	28	0
Tod	21	8		2		6	1	28	1
Boles	17	10	35 34			18	3	56	0
DOIGS				2	Dona	3	1	15	1
	UI	mpires:	M 116616	and	rong	ner.			

# BEDFORD MODERN SCHOOL v. WELLINGBOROUGH GRAMMAR SCHOOL.

Played at Bedford, Saturday, June 25, and left drawn.

#### WELLINGBOROUGH GRAMMAR SCHOOL

WELLINGBOROUGH	CRAMMAR SCHOOL.
F. E. Hemingway st Butler b R. Oliver 9 C. C. Simpson b R. Oliver 16 H. Chalcraft c Butler b Marsden 11 A. H. Fabling lbw, b Marsden 15 D. A. Macpherson run out 3 F. Ward b R. Oliver 70 A. Barton c and b Marsden 0	G. R. Hammond b Walker 9 A. W. Brown not out 73 F. E. Tayler lbw, b R. Oliver 0 V. H. Wardle b R. Oliver 19 Byes, &c. 18

Public School Matche	es.	atches	M	School	ic	Publ
----------------------	-----	--------	---	--------	----	------

2	
Bedford Mon	DERN SCHOOL.
E. C. Oliver run out	F. G. Driver not out
DOVER COLLEGE v. KING	S SCHOOL, CANTERBURY.
Played at Dover, Saturday, June 25	.—Dover College won by 22 runs.
King's	School.
L. J. Bassett b W. Digby	2 — b W. Digby 0 0 — run out 32 7 — run out 31 0 3 — not out 20 10 — c T. Digby b W. Digby 10 0 4 7 9 — not out 24
2700, 200	
	56 122
Dover (	
A. L. Griffith b Graty J. B. Henderson-Roe st Huyshe b Prest A. S. Radle not out F. B. Smith b Graty Byes, &c.	. 0 — c Bassett b Strahan 9 . 0 — c Prest b Wickham 0 11 — c Bassett b Wickham 1 . 5 — not out 15 . 2 — b Wickham 4 . 1 — not out 0 . 22 . 12 . 3 . 0
EASTBOURNE COLLEGE v.	HURSTPIERPOINT COLLEGE.
Played at EASTBOURNE, Saturday, Junome team by 259 runs.	ne 25, and resulted in an easy win for the
EASTBOURN	E COLLEGE.
W. L. Jackson b Denning       63         W. F. Napier b Currie       27         J. V. Young b Smiles       21         C. P. Cole not out       102         E. L. Elliott not out       72         Byes &c.       30	A. H. Streeten J. E. Musgrave W. S. Halliley D. S. Bryan Brown H. K. Streeter S. H. Lambert

Hurstpierpoin	NT COLLEGE.
V. P. Rodgers c Streeter b Young 5 H. R. Webb hit wkt, b Young 0 C. Laughton c Halliley b Young 4 R. Turner c Streeter b Cole 5 J. de W. Denning b Young 18 W. W. Smiles b Young 4 F. C. Currie b Young 4	H. P. Heldman b Young
FOREST SCHOOL v.	ELTHAM SCHOOL.
Played at Forest School, Saturday, J School by 133 runs. Waugh played very f	une 25, and resulted in a win for Fores ine cricket.
FOREST S	
A. J. Waugh c Barber b Bradford 126 W. L. Johnson c Bradford b Chandler	A. G. Morris c and b Bradford
ELTHAM	SCHOOL.
Curtis c Waugh b Bonsey       45         Bradford c and b Bonsey       5         Williams run out       8         Cavanagh c Bentin b Waugh       0         Barber b Waugh       0         Jackman b Bonsey       17         Bell b Bonsey       2	Irewin b Waugh 16 Lloyd b Waugh 17 Chandler not out 17 Renfrey c Waugh b Bonsey 18 Byes, &c 11
LEYS SCHOOL v. M	ILL HILL SCHOOL.
was left drawn. H. C. Tebbutt showed of his innings occupying an hour and three-	quarters.
Leys S	
H. C. Tebbutt c Morgan b Peill       148         W. H. Gimton b Peill       10         F. C. Pyman lbw, b Walker       20         B. W. Holloway b Brown       8         V. C. Cook not out       28         H. Hosken not out       5         Byes, &c.       12	L. Calvert H. H Scott R. T. Rees J. S. Brooksbank W. Lee
*231	val d edopole W (
* Innings dec	
MILL HILL G. S. Brown c Rees b Cook 9 D. L. Morgan not out 43 N. A. Dore c and b Lee 27 R. Spicer not out 11 Byes, &c. 17 107	C. W. Bywaters W. W. Grindley R. E. F. Peill W. Walker W. E. Snell L. Buck M. W. Kinsley

#### MERCHANT TAYLORS' SCHOOL v. HIGHGATE SCHOOL.

Played at Bellingham, Wednesday, June 29 — Merchant Taylors won easily, being 142 ahead at the finish with one wicket in hand.

#### HIGHGATE SCHOOL.

A. H. Neal c and b Jamieson 6 A. B. Lushington b Jamieson 26 G. R. Sayer b Sayer 0 M. C. Honeyball c Sayer b Jamieson 1 R. King c Cheesman b Jamieson 1 D. S. Macleer lbw, b Sayer 1	N. J. Cox b Jamieson       0         S. G. Fendrik b Sayer       7         R. G. Sargent b Sayer       6         A. Farker not out       2         Byes, &c.       2
C. W. Evans b Jamieson 1	53

MERCHANT TAY	LORS' SCHOOL.
E. N. Fuller b Cox	J. P. Jamieson c and b Sayer

## SUTTON VALENCE SCHOOL v. KING'S SCHOOL, CANTERBURY.

Played at Sutton Valence, Wednesday, June 29.—King's School won by seven wickets.

#### SUTTON VALENCE SCHOOL.

L. Sanderson b Graty J. M. Druce b Strahan F. A. Thew c Bassett b Prest. P. W. Tabrum c Covell b Prest R. G. Kingdon c Huyshe b Prest S. E. Kay c and b Prest V. C. Lowry b Prest R. M. Richardson b Graty L. Hamblock c Gillibrand b Hayes D. G. S. Urmson c Hayes b Graty L. W. Pritchard not out Byes, &c.	4 — c Dunlop b Strahan 21 — c Bassett b Strahan 9 — c Strahan b Bassett 12 — st Huyshe b Graty. 0 — b Prest 4 — b Prest 3 — absent hurt 16 — c Dunlop b Graty. 2 — st Huyshe b Prest	. 13 . 4 . 20 . 5 . 25 . 0 . 0
	95	
King's S	CHOOL.	
H. H. Hayes c Hamblock b Sanderson	. 19 — b Lowry	. 6

T. S. Adams b Lowry 35 — c Ul mson b Kay 7
1. J. Bassett b Lowry
E. Mason b Kay 9
O. F. Huyshe b Kay 9 — not out
G. C. Stranan c Tabrum b Lowry 4 — not out
G. C. Covell b Lowry 8
H J. Prest b Kay 0
A. Gillioralid D Kay
T. R. Graty not out
0 1/ D

## C. M. Dunlop b Kay ..... 4 Byes, &c. ..... 9 120

#### ALDENHAM SCHOOL v. MILL HILL SCHOOL.

Played at ALDENHAM Saturday, July 2, and resulted in a draw. Hewetson played finely for Aldenham.

#### ALDENHAM SCHOOL.

E. St. G. Hewetson not out148	W. L. Whitaker	
L. J. Reid c Spicer b Peill 42	A. P. Gray	
W. A. Gray c Grindley b Kemsley 81	F. H. W. Hirsch	
A. G. Seymour not out 34	K. C. Buss did not bat	,
Byes, &c 8	A. H. Sale	
	R. Worssam	
*313	K Thomas	

\*Innings declared closed.

#### MILL HILL SCHOOL.

G. S. Brown c Reid b Thomas 34 D. L. Morgan c W. Gray b P. Gray 31 N. A. Dore lbw, b Whitaker 40 R. Spicer b Whitaker 0	H. Walker b Thomas 7 H. E. Snell not out 4 Byes, &c. 18
C. W. Bywaters b Thomas 7	154
H. H. Grindley c Seymour b Gray 3 R. E. F. Peill lbw, b Thomas 10	L. Buck M. H. Kemsley did not bat.

#### LEYS SCHOOL CAMBRIDGE, v. FELSTED SCHOOL.

Played at CAMBRIDGE, Saturday, July 2.—An interesting game resulted in a draw in favour of the home side. H. C. Tebbutt played an excellent innings, this making his seventh hundred during the term.

#### LEYS SCHOOL.

H. C. Tebbutt c Partington b	H. Hosken c Murray-Shirreff b
Murray-Shirreff 122	Jewett 39
W. Gunton b Murray-Shirreff 6	H. H. Scott not out 14
F. C. Tyman b Davies	R. T. Rees not out 1
B. H. Holloway c and b Murray-	Byes, &c 28
Shirreff 61	
V. C. Cook c Jewett b Murray-	*292
Shirreff 3	F. C. Brooksbank did not bat
L. Calvert b Davies 5	A. Lee

#### \*Innings declared closed.

#### FELSTED SCHOOL.

1 1201	DE NOMOODI
C. H. Douglas c and b Cook A. M. Dountor b Rees	
J. S. Yonte c Brooksbank b Lee 4 R. S. Preeston st Brooksbank b	150
Tebbutt	4 V. L. B. Davies did not bat.
E. M. Durrant c Lee b Cook	

#### ST. JOHN'S SCHOOL, LEATHERHEAD, v. LANCING COLLEGE

Played at Leatherhead, Saturday, July 2.—Resulted in a draw in favour of Lancing, Leatherhead just succeeding in playing out time.

#### LANCING COLLEGE.

R. M. Powell st Kerby b Ingram 59 H. C. Greenfield b Armstrong 37 C. H. Wade c Hopkins b Armstrong 9 C. E. Brisley c Kerby b Ingram 27 L. Stephens not out 62 B. E. Mathieson c Manning b Evans 45 A. C. Greenfield c Evans b Armstrong 12  *Innings declar	W. H. Chiazzari c Manning b Evans 8 Byes, &c	
St. John's School,	LEATHERHEAD.	
S O. Evans b H. C. Greenfield 6 W. Manning run out 27	C. Kerby c Brisley b Wade	

#### MALVERN COLLEGE v. REPTON SCHOOL.

Byes, &c. ..... 18

Stephens. 6
R. E. A. Ingram c and b H. C.

Greenfield ..... 4

Played at MALVERN, Tuesday, Wednesday, July 5, 6.—Repton won by eight wickets. Crawford's all round cricket was superb. He took thirteen wickets and scored 101 runs.

#### MALVERN COLLEGE

MALVERN	COLLEC	₹E.	
F. A. Powell lbw, b Greswell F. H. Franks c and b Crawford A. P. Day b Crawford F. T. Mann b Crawford G. N. Foster c Crawford b Greswell H. Simms b Crawford P. J. Aste c Young b Greswell E. L. Mellin b Greswell R. C. Byass b Crawford C. H. Bird b Crawford C. J. Pearson not out Byes, &c.	. 4 — . 0 — . 79 — . 15 — . 19 — . 5 — . 0 — . 3 —	- b Crawford - b Greswell - b Crawford - b Crawford - c Turner b Greswell	. 2 . 12 . 0 . 43 . 33 . 27 . 51 . 2 . 4
	179		195
REPTON	Scноо	L.	
R. A. Young b Byass C. G. Barnardo c Foster b Day J. N. Crawford c Pearson b Day E. A. Greswell c Ashe b Simms N. B. Turner st Bird b Pearson F. C. Johnson b Pearson J. Thwaites b Simms H. A. Birrell c Bird b Pearson R. C. Parkin not out G. W. Halkett c Pearson b Day	. 14 — . 33 — . 37 — . 18 — . 30 . 2 . 19 . 9	- not out - c Bird b Byass - b Foster	. 64
Byes, &c.		Byes, &c	. 12
	199		176

#### BEDFORD MODERN SCHOOL v. MILL HILL SCHOOL.

Played at Budford Wednesday,	uly 6.	-The match was drawn in favor of Mill
Hill.		
MILL	HILL	SCHOOL.
G. S. Brown b Walker	15	R. E. F. Peill b Walker 25
D. L. Morgan st Butler b Jones	10	H. Walker hit wkt., b Jones 2
N. A. Dore b Walker		M. H. Kemsley b Walker 0
R. Spicer c Butler b Oliver		J. A. Taylor not out 20
C. W. Bywaters b Walker		Byes, &c
H. E. Snell b Walker		_
H. H. Grindley c Driver b Jones		223
		ERN SCHOOL.
E. C. Oliver run out	15 (	F. G. Driver
R. E. Oliver not out		R. M. Page
G. C. Walker c Snell b Taylor		A. H. Towers did not bat.
K. R. B. Walker c Kemsley b Taylor	3	C. A. Foy
A. B. Morton b Kemsley	5	E. D. Jones
J. C. Butler not out	9	21. 21. 00.000
Byes, &c		
Dyes, &c	14	
	92 1	
	04	

#### BEDFORD COUNTY SCHOOL v. WELLINGBOROUGH GRAMMAR SCHOOL.

Played on the County School Ground, Bedford, Wednesday, July 6, and ended in a victory for the visitors by the narrow margin of five runs

WELLINGBO	ROUGH GRAMMAR	
C. C. Simpson lbw, b Steytler	15   R. E. W	illiams c Saffery b Steytler 5
F. E. Hemingway c Southwell		on c Molyneux b Holmes-
Grant		1 20
A. H. Fabling b Steytler		ylor b Steytler 12
G. R. Hammond b Grant		n not out 10
D. A. Macpherson b Steytler		yes, &c 12
F. Ward b Holmes-Brown		
A. W. Brawn b Grant	6	123
BEDF	ORD COUNTY SCHO	OL.
E. H. Saffery lbw, b Simpson	23   E. W. F	loyer b Acton 12
P. Gaminara b Acton		ohlmann b Simpson 15
G. C. Claridge lbw, b Tayler	2 P. South	well not out 5
G. Brent-Steytler c Barton b Simp	son 22 H. Scov	ven 1bw, b Simpson 0
A. E. Holmes-Brown c Simpson		yes, &c 2
Acton		siminal o suspendid del
G. C. Grant c Ward b Simpson		118
M. J. Molyneux b Tayler	16	
T. T. But a Lies h Theraldt		

#### CRANLEIGH SCHOOL v. HURSTPIERPOINT COLLEGE.

Played at Hurstpierpoint, Wednesday, July 6.—After a fine match the home team won a few minutes from time by three wickets. The fielding on both sides was distinctly good.

CRANLEIGH	SCHOOL.
G. M. C. Taylor b Smiles 4	H. B. G. Russell c Turner b Denning 48
F. Winsloe b Smiles 44	G. E. R. Slade run out 24
N. Blake c Heldmann b Smiles 25	H. A. Cressall c Webb b Turner 2
S. E. M. Lawrence b Turner 9	F. O. N. Burne not out 7
R. G. Chandler b Smiles 22	Byes &c 16
H. W. Young c Ardington b Smiles 3	
W B. Cross c and b Smiles 6	210-

	Public	School	Matches
4	L WOULE	DUILUU	111 110011100

#### HURSTPIERPOINT COLLEGE.

R. Turner b Young	H. R. Heldmann c Chandler b Young 6 J. H. Tompsett not out
W. W. Smiles lbw, b Young. 2 F. C. Currie b Cressall 6	J. Ardington R. C. Petherbridge did not bat.

## ST. JOHN'S COLLEGE, HURSTPIERPOINT v. CRANLEIGH SCHOOL.

Played at Hurstpierpoint, Wednesday, July 6.—St. John's won a keenly contested game by three wickets.

#### CRANLEIGH SCHOOL.

G. M. C. Taylor b Smiles 4 F. Winsloe b Smiles 44 N. Blake, c Heldmann b Smiles 25 S. E. M. Lawrence b Turner 9 R. G. Chandler b Smiles 22 H. W. Young c Ardington b Smiles 3	H. B. G. Russell c Turner b Denning 48         G. E. R. Slade run out
W. B. Cross c and b Smiles 6	210

ST. JOHN'S	COLLEGE.
R. Turner b Young       49         H. R. Webb lbw, b Young       0         C. Langton c Young b Cross       20         V. R. Rogers c Taylor b Young       37         J. E. de W. Denning not out       58         W. W. Smiles lbw, b Young       2         F. C. Currie b Cressall       6	H. R. Heldmann c Chandler b Young 6 J. H. Thompsett not out

## LEYS SCHOOL, CAMBRIDGE, v. BEDFORD COUNTY SCHOOL

Played at Cambridge, Thursday, July 7, and resulted in a draw. H. C. Tebbutt played his eighth innings of three figures.

#### LEYS SCHOOL, CAMBRIDGE.

H. C. Tebbutt lbw, b Gaminara       154         V. C. Cook b Holmes-Brown       24         H. Hoskin b Floyer       13         J. S. Brooksbank b Gaminara       13         B. H. Holloway lbw, b Floyer       0         W. H. Gunton not out       5         S. Calvert not out       3         Byes, &c.       14	F. C. Pyman T. Peckett H. H. Scott R. T. Rees	
	ORANDELOH REMODERATE	

#### \*Innings declared closed.

A. E. Holmes-Brown not out       38       P. Gaminara         E. H. Saffery b Tebbutt       0       M. J. Molyneux         G. C. Claridge b Cook       21       G. C. Grant         G. Brent-Steytler b Cook       0       E. W. Floyer         L. Collins not out       2       G. C. Pohlmann         Byes, &c       2       P. Southwell	BEDFORD CO	UNTY SCHOOL.
63	E. H. Saffery b Tebbutt       0         G. C. Claridge b Cook       21         G. Brent-Steytler b Cook       0         L. Collins not out       2         Byes, &c       2	M. J. Molyneux G. C. Grant E W. Floyer G. C. Pohlmann P. Southwell

#### HAILEYBURY COLLEGE v. WELLINGTON COLLEGE.

Played at Haileybury, Friday, Saturday, July 8, 9.—Haileybury won by eight wickets.

#### WELLINGTON COLLEGE.

L. R. Fowle c Howard b Heymann E. R. Wood b Heymann J. R. Sherston b Bignell C. F. Cahusac c Howard b Bignell C. King b Heymann B. B. Walker, not out B. B. Marshall st Stokes b Bignell Byes, &c.	49 — c Stokes b Bignell       62         36 — c and b Bignell       0         2 — c MacAndrew b Heymann       1         34 — c Bostock b Bignell       4         5 — c Rigby b Howard       19         2 — c Smelly b Dibden       13         5 — c Heymann b Dibden       2         1 — not out       27         12 — c Stokes b Heymann       13         15 — c Legge b Heymann       42         Byes, &c.       1         68       298	
W. G. Heymann c Sherston b Marshall H. G. Stokes lbw, b Drysdale G. W. Bignell run out	13 — c Drysdale b Fowle 18 66 84 — b Marshall 24	
A. Howard b Fowle F. Frewer c Vigors b Drysdale N. S. Bostock b Drysdale R. MacAndrew c Vigors b Fowle J. D. Legge c Vigors b Drysdale R. G. Dibden not out W. A. Smelly b Robertson	47 28 1	
Byes, &c.	14 Byes, &c 8	
3	85 82	

#### RADLEY COLLEGE v. BRADFIELD COLLEGE.

Played at RADLEY, Saturday, July 9.-Radley won by 50 runs.

#### RADLEY COLLEGE.

H. K. Worsley c Ling b Thornhill 4	A. Clover b Boyle 0
T. L. Reid c Ling b Thornhill 10	T. G. Robinson c Ling b Boyle
F. N. Fox lbw, b Grant 26	J. W. Blencowe b Boyle 0
R. H. Williams b Boyle 31	P. Phipp c Thornhill b Boyle 9
T. Wall c Ling b Boyle 20	Byes, &c
J. R. Hartwell not out 41	MC. H. Efforce o and b Fearson
	161

BRADFIELD COLLEGE.			
L. A. Bernard b Clover 23	J. Delacour c Williams b Fox 3		
C. M. Thornhill c Williams b Clover 19	T. Sharp c and b Worsley 13		
T. W. Winwood c Reid b Fox 19	R. Maul c Williams b Fox 1		
L. P. Grant c Reid b Fox 10	A. Boyle not out 5		
H. A. Robinson lbw, b Fox 0	Byes, &c 10		
R. W. Ling c Worsley b Blencowe 7	_		
H. Martyn c Williams b Blencowe. 1	111		

#### DULWICH COLLEGE v. ST. PAUL'S SCHOOL.

Played at Dulwich, Saturday, July 9.—Dulwich gained a brilliant victory.

#### ST. PAUL'S SCHOOL.

B.M. Wakeling c Knowles b Langdon 11 C. A. Bolter b Langdon 0 H. M. G. Geary b Kiddle 88 W. A. Johnson b Kiddle 25 F. H. Robbins lbw, b Betham 8	F. W. Bewsher b Knowles       17         V. R. Munton b Langdon       20         B. L. Montgomery b Langdon       18         C. H. Gadsden not out       0         Byes, &c.       14
J. S. Heathcote c Lindsey b Kerr. 20 H. B. Brown run out 5	226

#### DILWICH COLLEGE

DOLWICH	COLLEGE.
Y. A. C. Kiddle b Munton	Byes, &c 39
R. B. Firth c Heathcote b Munton 93	264
M. Lindsey not out	P. W. Bain R. G. A. Kerr did not bat.
C. R. A. Siegle b Johnson	G. A. Goggs F. G. Langdon

#### UPPINGHAM v. MALVERN.

Played at Uppingham, Tuesday, Wednesday, July 12, 13.-A heavy scoring match was left drawn.

#### MALVERN.

F. A. Powell c Stephens b Lowe 26 P. J. Aste c Bailey b Palmer 38 A. P. Day c Stephens b Swindells 147 H. Simms c Priestley b Palmer 0	E. L. Mellin c Wheatley b Hurst 14 R. C. Byass c Eiloart b Hurst 15 C. H. Bird st Bailey b Hurst 5 C. J. Pearson not out 10
G. N. Foster c Bailey b Swindells 153 F. T. Mann c Wheatley b Palmer 31 W.S. Cornelius c Eiloart b Swindells 15	Byes, &c

#### UPPINGHAM.

C. Palmer c Cornelius o Simms 37	— c Foster o Day 45
H. F. P. Hearson b Byass	— b Simms 7
C. S. Hurst not out	— c Mann b Simms 37
C. H. Eiloart c and b Pearson (	) - b Day 15
L. N. H. Bailey lbw, b Simms	B - c and b Day 1
A. R. Wheatley c Mellin b Foster 14	4 — not out
V. Stephens b Day	3 — b Simms
J. Swindells c Foster b Pearson 45	6 — c Foster b Pearson 6
B. A. Johnson c Day b Simms 10	O. M. Thornall a Williams of M.D.
- Priestley b Foster	E. W. Winscool e Reid, b Forces
J. C. M. Lowe c Mellin b Foster	1 — not out 3
Byes, &c 35	Byes, &c
	owomeski d Teletow o wald W
318	181

#### CLIFTON COLLEGE v. CHELTENHAM COLLEGE.

Played at CLIFTON, Wednesday, Thursday, July 13, 14.—The match was left drawn. There was a great deal of fine batting.

#### CHELTENHAM COLLEGE.

A. C. Tennant c Dobson b Pilcher R. T. H. Mackenzie c Fedden b Evers	89 —	b Methuen
M. G. Salter c Crew b Evershed	111 -	not out
G. G. Rawson c Eberle b Dobson	64	
D. P. Dickinson b Methuen	30	
D. R. Peel b Pilcher	20	
J E. J. Taylor b Dobson	0	
J. I. Piggott lbw, b Pilcher	23	
E. A. Smythies c Eberle b Pilcher	8	
C. T. Brett not out	9	
H. C. McNeile b Pilcher		
Byes, &c		Byes, &c 7
		Thresh is maintain a manufacture
	425	195

#### CLIFTON COLLEGE.

A. H. Crew lbw, b Peel	0 3	A. M. Champion c Rawson b Piggott
A. D. Imlay c Smythies b Peel		S. H. Evershed b Mackenzie 18
A. T. A. Dobson st. Tyler b Piggott	58	H. C. Methuen not out 22
H. R. Gould lbw, b Brett	54	Byes, &c 34
V. Fuller Eberle b Peel	51	and the second s
		426

#### WELLINGTON COLLEGE v. CHARTERHOUSE SCHOOL.

Played at Wellington, Saturday, July 16 .- Charterhouse gained an easy victory by 130 runs.

#### CHARTERHOUSE SCHOOL.

C. A. L. Payne b Drysdale 12	M. Kemp-Welch cWood b Berrington 14
E. J. Cripps c Drysdale b Fowle 10	H. A. Gilbert not out 12
J. Blagrove st Walker b Robertson121	H. R. Stranack b Berrington 1
C. V. L. Horman c Wood b Fowle 78	C. T. Gooch not out 7
F. Johnson c Vigors b Berrington 37	Byes, &c 14
R. L. L. Bradell b Drysdale 10	thefferd of Years to Frafferd
J. V. Buchanan b King 37	353
P. R. Attrestedfall of bushnand n - 680	
WELLINGTON	College.
H. B. Robertson b Gooch 9	L. R. Fowle b Kemp-Welch 22
G. C. Drysdale c Horman b Kemp-	E. R. Wood c Stranack b Payne 8
Welch 43	C. E. King c Cripps b Buchanan 17
M. D. Vigors c Gilbert b Buchanan 6	C. F. Cahusac c Gilbert b Gooch 2
C. T. D. Berrington c Stranack b	R. D. Walker not out 18
Kemp-Welch 40	Byes, &c 37
J. R. V. Sherston c and b Gooch 5	-
T. B. S. Marshall c Bradall b Payne 16	223

## WELLINGBOROUGH GRAMMAR SCHOOL v. MILL HILL SCHOOL.

Played at Wellingborough, Saturday, July 16.—Mill Hill won by 33 runs.

emsley b Simpson 10
ell c Williams b Tayler 8
Peill not out 7
Telli ilou out
ylor c Acton b Tayler 0
ves, &c 6
CONTRACTOR OF MARKS OF TRACTOR AND THE
165
A NEW YORK O MORESTRA WATER
School.
on c Grindley b Kemsley 30
illiams c Taylor b Kemsley 7
yler c Morgan b Walker 6
eton not out 0
res, &c 2
- Byes, &c
132

## REPTON SCHOOL v. UPPINGHAM SCHOOL.

Played at Repton.—The home team won by 145 runs. Crawford and Halkett bowled well in the last innings, the former taking six wickets for 53 runs.

## REPTON.

10011	Mark of Africa State of the Control	
Al margament doow on low queek M	9 — c Bailey b Lowe 19 — c Broad b Kennedy 3 11 — not out 4 27 — c Bailey b Hurst 2 14 — b Swindells 5 — run out 2 21 — c and b Hurst 4 4 — c Lowe b Broad 10 — b Lowe 1 11 — c Hurst b Broad	2 33 32 21 3 4 7 7 0 1 16
UPPING	HAM.	
C. Palmer b Crawford H. F. P. Hearson b Crawford C. S. Hurst c Young b Halkett L. N. H. Bailey b Crawford Mather c Young b Griswell A. R. Wheatley c Young b Crawford J. C. M. Lowe c Turner b Crawford J. Swindells lbw, b Halkett Broad b Greswell B. A. Johnson b Crawford W. D. Kennedy not out Byes, &c.	0 — c Thwaites b Crawford 1 97 — c and b Crawford 2 28 — b Crawford 1 13 — c Crawford b Halkett 1 5 — c Parker b Halkett 1 0 — b Halkett 1 11 — b Crawford 4 4 — not out 1 4 — b Crawford 1	9
	The state of the s	

## AVERAGES.

## ALDENHAM SCHOOL BATTING.

1 16.80	Inning	s	Runs		lost in a innings		Tim not o		Average
W. L. Whitaker	. 10		368		145		2		46 00
W. A. Gray	. 13		582		102		0	4.00	44.76
E. St. G. Hewetson .	. 13		453		148*		2		41.18
L. J. Reid	. 13		380		60		1		31.66
R. Worssam	. 2		45		41		0		22.50
A. G. Seymour	. 13		204		52*		3		20.40
A. H. Sale	. 6		65		20*		2		16.25
A. P. Gray			178	nima 8	69	•	0		16.18
K. C. Buss	. 7		83		26*		1		13.83
K. Thomas	. 7		60		28	•	Ô		8.57
H. J. Dodd		L.I	20	712	9	Tit	2	TI	6.66
			gnifies 1	not ou			4	20.	000

## ALDENHAM SCHOOL BOWLING.

W. L. Whitaker	Overs		Maidens		Runs		Wicket	s	Average
W. II. Willoaker	1/2		23		590		45		13.11
W. A. Gray	56	.,,	12		162		12		13.50
A. P. Gray	130.2		27	4.4	380	11.3	20		19:00
H. J. Dodd	38		13		122		5		24.40
K. Thomas			16		246		10		24.60
A. H. Sale	40.5		5		158		6	L.	26.33

## BEDFORD GRAMMAR SCHOOL BATTING.

A STATE OF THE PARTY OF THE PAR					Most in an	Times		
	Innings		Runs		innings	not out		Average
G. P. Alexander			402		96	1		33.50
F. M. Joyce	. 15		385	30	117	2	mon	29.61
J. G. Milton	. 15		396	22	93	1		28.28
A. N. Barraud		·	274		59	1	. 01	22.83
C. B. Atkinson			265	88	60	. 0	10 .	18.92
D. H. Peel	12		201	0.0147	00	1		18.27
I. A. N. Brooks	4		64		36	0		16.00
E. O. Mackwood	7		98		38	0		14.00
A. C. Smith	13	. 15	131	TITLE	24	1		10.92
G. E. Clamp	9		50	4	13*	4		10.00
L. A. L. Carter	7		35		19	3		8.75
P. C. Gouldsbury	7		39	20	14	2	- 61	7.80
W. Vassall	6		28	93	9	. 0		4.66
		* 8	ignifies	not	out		din	¥ 00 .

Public School A	verages.
-----------------	----------

## BEDFORD GRAMMAR SCHOOL BOWLING.

	Overs	aidens	Runs	W	ickets	Average
G. E. Clamp	45	 1	 193		16	 12.06
A. N. Barraud	106.2	 10	 392		28	 14.00
D. H. Peel	205.2	 33	 721		41	 17.58
F. M. Joyce	293	 43	 1017		52	 19.55

## BLUNDELL'S SCHOOL BATTING

					Most in ar	1	Times	
	nnings		Runs		innings		not out	Average
H. P. Nell	7		124		63*		2	 24.80
R. S. Pedraza	17		387	183	77	4.	1	 24.18
H. C. Brooks	18		416		54		0	 23.11
D. H. C. B. Drake	14	80.19	212		60*		1	 16.30
R. L. Beddy	18		246		58		2	 15.37
L. C. C. Rogers	11		152		60		1	 15.20
R. L. Bryant			251		57		0	 13.94
H. W. Dakeyne	12		146		33		1	 13.27
R. C. Atkins	18		233		35		0	 12.94
A. N. Acland	12		80		23		4	 10.00
H. E. John	9		47		18		4	 9.40
		* Si	gnifies n	ot o	ut.			

## BLUNDELL'S SCHOOL BOWLING.

	Overs	Maidens	Runs	Wickets	Average
A. N. Acland	146.2	 27	 502	 42	 11.95
H. C. Brooks	286	 61	 859	 47	 18.27
R. L. Bryant	75	 8	 338	 16	 21.12
H. E. John	144	 23	 501	 23	 21.78

## BRADFIELD COLLEGE BATTING.

				M	lost in	an	Time	es	
I	nning	S	Runs		innings	3	not or	ut	Average
L. A. Bernard	11		289		72		0		26:27
R. W. Ling	11		194		50*		1		19.40
H. A. Robinson	11		185		52		1		18.50
C. M. Thornhill	11	C 32.17	169	4.34	33	0.	0		15.36
J. L. De la Cour	4	Mark -	29		22*		2		14.50
L. P. Grant	11	1 1.015	148		47		0		13.45
H. F. Martyn	11	Since!	119		69	10.	1		11.90
J. E. Sharp	8		70		30*		1	1.00	10.00
J. M. Winwood	8		69	89	19		1		9.85
R. Maul	4		23	95	9		1		7.66
A. R. Boyle	9		22	2	10		4		6.40
E. R. A. C. Cox	9	19	83		13	1	0		3.66
		* Si	gnities	not or	it.				

## BRADFIELD COLLEGE BOWLING.

	Overs	Maiden	S	Runs	V	Vicket	S	Average
A. R. Boyle	144.2	 23		451		32		14.09
L. P. Grant		32		302		20		15.10
C. M. Thornhill		36		580		28		20.71

## BRIGHTON COLLEGE BATTING.

egenevA tuo ton I	nnings		Runs		Most in an innings	1	Times not out		A rrome are
G. Belcher	14		402		111		100 000		Average 28.71
A. W. Shallow	15		298		88		9		22.92
W. B. Blatch	15		297		59		9		
C. A. Craufurd	12		97		36*				22.84 16.16
D. S. Shallow	14		213		55				15.21
A. I. Carr	12		134		43		ĭ	•	12.18
J. A. Campbell	13		107		20				8.91
F. J. Battey	13		101		22				8.41
J. S. Morrice	11		80		35		-		7.27
S. A. Wheeler	11		47		9				4.70
C. Hepworth	7		4		2*		_		2.00
		* S	ignifies i	not o	ut.	•		• •	2 00

# BRIGHTON COLLEGE BOWLING.

G. Belcher	Runs 607	 Wickets 50	 Average 12·14
J. S. Morrice		 38	 14.89
J. A. Campbell	141	 6	 23.50
C. Hepworth	286	 9	 31.77

# CHARTERHOUSE SCHOOL BATTING.

DO	Innin	gs	Runs		Most in a		Times not out	Average
Lord Somers	6	.A.D	274		115*		0	00 50
F. Johnston	5		179		56*		7	
C. V. L. Hooman	12	ar in	389		158	• •	1	
J. N. Buchanan	11		304		128	• •	1 .	
J. Blagrove	13		277		121		0	27.63
C. A. L. Payne	14		271	• •	86	• •	1,000	23.08
H. A. Gilbert	11		135				1	20.84
E. L. Firth	6		74		55		4	19.28
E. S. Cripps	1.1		143	٠.	30*		1 V.S.	
M. Kemp-Welch	10							11.00
H. R. Stranack	12	• • • •	72		19		2	7.20
C. T. Goodh	11		62		17*		2	6.88
C. T. Gooch	1		21		9		1	3.50
		* Sig	nifies n	ot o	ut.			9.33

## CHARTERHOUSE SCHOOL BOWLING.

								V	•
H. A. Gilbert			Maidens 49	(A)	Runs 659	4	Wickets 38		Average 17:34
J. N. Buchanan M. Kemp-Welch	120.5	1	19		432		23		18.78
C. A. L. Payne	64		31 10		686 261	::	10		20·17 26·10
C. V. L. Hooman	93		11		330		9		36.66
C. V. II. HOOMan	14		0		81		2		40.50

Public	School	Averages.
--------	--------	-----------

## CHELTENHAM COLLEGE BATTING.

					Most in ai	1	Times	
	Innings	3	Runs		innings		not out	Average
W. G. Salter	. 18		993		145*		3	 66.20
R. T. H. Mackenzie .			625		149		1	 36.76
A. C. Tennant	. 17		476		89		0	 28.00
D. R. Peel			207		58		1	 20.70
G. G. Rawson			296		64		1	 19.73
D. P. Dickinson	. 15		205		34		2	 15.76
H. L. Benson			46		22		1	 15.33
J. E. J. Taylor			191		47*		3	 15.08
E. A. Smythies			161		26		3	 13.41
J. I. Piggott			64		27		1	 10.66
C. T. Brett			30		9*		5	 7.50
		* 8	ignifies 1	not o	out.			

## CHELTENHAM COLLEGE BOWLING.

	Overs	Maide	ns	Runs	Wicket	S	Average
C. A. Smythies	186.5	 24		604	 34		17.76
D. R. Peel		 27		276	 15		18.40
R. T. H. Mackenzie	123	18		435	22		19.77
J. I. Piggott		1		138	 6		23.00
H. L. Benson	44	6		139	 5		27.80
C. T. Brett		19		415	 14		29.64

## CLIFTON COLLEGE BATTING.

				N	lost in a	ın	Tim		
1011 1011 1011	Inning	gs	Runs		innings	3	not c	out	Average
A. M. Champion	3		125		122		1	11.0	62.50
A. T. A. Dobson			245		58		1	0,70	22.27
V. Fuller-Eberle			151		51		2		21.57
G. A. Hanson			140		65		0	17.00	20.00
A. D. Imlay			224		48*		1		18.66
A. H. Crew			255		68		1	100	18.21
W. H. Pilcher	9		136		42		1	1377	17.00
S. H. Evershed	12		130		42		0	08080	10.83
A. H. R. Fedden			128		29		1		9.84
G. T. C. Watt			87		36*		1		9.66
H. C. Methuen	8	Walter V	48		22*		2		8.00
ii. O. Biomain		* Si	gnifies n	ot ou	it.				

## CLIFTON COLLEGE BOWLING.

	777 7 7 7	•	, – – –					
	Overs		Maide	ns	Runs	Wicke	ts	Average
S. H. Evershed	58.4		6		237	 16		14.81
W. H. Pilcher	78		7		276	 15		18.40
H. C. Methuen .	163		29		510	 26	motel I	19.61
A. T. A. Dobson	158.1		22		577	 22		26.22

## CRANLEIGH SCHOOL BATTING.

ogene A Joo lod	nnings		Runs		ost in a	Tim-	Average
G. M. C. Taylor	16		447		107	 1	 29.80
R. G. Chandler	16		303		42	 1	 20.20
H. B. G. Russell	9		161		56	 1	 20.12
S. E. M. Lawrence	15		187		51	 4	 17.00
N. Blake	15		217		35	 1	 15.50
F. Winsloe	15		228		44	 0	 15.20
H. W. Young	13		130		23*	 2	 11.81
W. B. Cross	7		80		25	 0	 11.42
H. A. Cressall	12		111		32	 2	 11.10
G. E. R. Slade	12		77		24	 2	 7.70
F. O. N. Burne	8	1.	11		7	 3	 2.20
		* Si	gnifies r	ot ou	ıt.		

## CRANLEIGH SCHOOL BOWLING.

	Overs	Maidens	Runs	Wicket	ts	Average
F. O. N. Burne	71.3	 9	 281	 2)		14.05
H. A. Cressall	76.2	 8	 331	 22		15.04
N. Blake	157.4	 33	 502	 32		15.68
R. G. Chandler	230.2	 48	 756	 41		18.43

## DOVER COLLEGE BATTING.

			N	fost in a	an	Tim	es		
	Innings	Runs		innings		not c	out	Average	
W. E. S. Digby	. 15	 356		66		3		29.66	
T. A. Digby	. 14	 263		48		0		18.78	
R. B. Charsley	. 14	 193		53		3		17.54	
E. A. T. Taylor	. 15	 158		85*		3	TOTAL S	13.16	
J. B. Henderson-Roe.		 112		42		1	70	12.44	
F. A. C. Munns	. 10	 106		37		0	1	10.60	
L. Jones	. 10	 97		28		0		9.70	
A. L. P. Griffith	. 5	 48		22		0	51.1	9.60	
T. B. Smith	. 14	 68		15		4		6.80	
A. S. Rawle	. 9	 33		9*		4	30.19	6.60	
R. D. G. Munns	. 12	 42		82		2	Bule?	4.20	
J. Vance	. 10	 38	usik I	16		0		3.80	

#### \* Signifies not out.

## DOVER COLLEGE BOWLING.

askerit. Benegras	Overs	Maidens	Runs	Wicke	ts	Average
W. E. S. Digby	212.5	 36	 678	 59		11.49
J. B. Smith	201.5	 39	 636	 54		11.77
R. B. Charsley	45	 2	 149	 9		16.55
J. B. Henderson-Roe	38.4	 9	 166	 8		20.75

	Public	School	Averages.
--	--------	--------	-----------

# DULWICH COLLEGE BATTING.

	Innings		Runs		st in an		Times not out		Average
R. B. Firth	. 14		370	1	93		nou out		
J. A. C. Kiddle	. 15					• •	1	200	28.46
A TO C Transit	. 10		248		48		0		16.53
A. E. S. Leggatt	. 10		111		27*		2		13.87
A. B. Knowles	. 15		201		78		0		13.40
M. Lindsey	15		139		33*		1		
R. G. A Kerr	11						4		12.63
D. W. A. Kell	. 11		125		28*		1		12.50
P. W. Bain	11		136		42		0		12:36
R. J. A. Betham	15		112		21		9	gitt 154	8 61
C. R. A. Siegle	12		82		15*		4	11.00	
C A Commis	10						2		7.45
G. A. Goggs	9		32		15		0		3.55
F. G. Langdon	. 8		20		6		1		2.85
The second second		Sig	gnifies n	ot ou	t.		Or	100	2 00

## DULWICH COLLEGE BOWLING.

107553	Overs	Maidens					Wickets		Average
R. G. A. Kerr	63.1		12		265		20		13.25
F. G. Langdon	75.4		17		268	Y	19		14.10
M. Lindsey	72.4		14		217				14.46
J. A. C. Kiddle	185		47		539			P. S. S. R.	16.33
R. J. A. Betham	106.3		17	56	406	100	17	3300	23.88
A. B. Knowles	42.4		5		196		6	HATA	32.66
	F. G. Langdon M. Lindsey J. A. C. Kiddle R. J. A. Betham	R. G. A. Kerr 63.1 F. G. Langdon 75.4 M. Lindsey 72.4 J. A. C. Kiddle 185	R. G. A. Kerr 63.1 F. G. Langdon 75.4 M. Lindsey 72.4 J. A. C. Kiddle 185 R. J. A. Betham 106.3	R. G. A. Kerr 63.1 12 F. G. Langdon 75.4 17 M. Lindsey 72.4 14 J. A. C. Kiddle 185 47 R. J. A. Betham 106.3 17	R. G. A. Kerr 63.1 12 F. G. Langdon 75.4 17 M. Lindsey 72.4 14 J. A. C. Kiddle 185 47 R. J. A. Betham 106.3 17	R. G. A. Kerr 63.1 12 265 F. G. Langdon 75.4 17 268 M. Lindsey 72.4 14 217 J. A. C. Kiddle 185 47 539 R. J. A. Betham 106.3 17 406	R. G. A. Kerr 63.1 12 265 F. G. Langdon 75.4 17 268 M. Lindsey 72.4 14 217 J. A. C. Kiddle 185 47 539 R. J. A. Betham 106.8 17 406	R. G. A. Kerr 63.1 12 265 20 F. G. Langdon 75.4 17 268 19 M. Lindsey 72.4 14 217 15 J. A. C. Kiddle 185 47 539 38 R. J. A. Betham 106.3 17 406 17	R. G. A. Kerr 63.1 12 265 20 F. G. Langdon 75.4 17 268 19 M. Lindsey 72.4 14 217 15 J. A. C. Kiddle 185 47 539 33 R. J. A. Betham 106.3 17 406 17 A. B. Knowles 42.4 5 196

## ETON COLLEGE BATTING.

					Most in a innings	Times not ou		Average	
D. C. Boles			300		183		0	ol.T	37.50
W. N. Tod			366		100				36.60
H. C. Cumberbatch	8		158					10.7.0	
C. G. E. Farmer	12		360				0		
J. J. Astor	12		323				i		
N. C. Tufuell	10		184				2		
A. G. Turner	6		138		49		0		
G. C. Campbell	11		154				i		
C. E. Severne	10		100				2		
J. N. Horlick	12						2		
C. E. Hatfeild							ő		8.16
		* 4.							

<sup>\*</sup> Signifies not out.

## ETON COLLEGE BOWLING.

	Overs	Maidens	Runs		Wickets		Average
J. N. Horlick		 71	 489		29		16.80
C. E. Hatfeild		 40	285	٠	16		17.86
D. C. Boles		 28	 235		12	IU.	19.51
C. E. Severne		 36	 476		20		23.83
W. N. Tod	145.4	 21	 421		16	TAX.	26:31

## FELSTEAD SCHOOL BATTING.

			M	ost in an	Times	
ensusy A Jon ton I	nnings	Runs	j	nnings	not out	Average
H. M. Haukin	4	 120		56	 0	 30.00
R. S. Preeston	14	 347		101	 0	 24.79
A. N. Jewell	11	 242		113	 0	 22.00
C. Murray-Shirreff	14	 216		61*	 4	21.60
V. L. G. Davies	10	 128		75	 3	 18.28
E. F. Edge-Partington	10	 157		37	 1	 17.44
J. S. Youle	14	 193		46	 0	 13.78
A. R. Thomas	13	 154		50	 1	 12.83
A. M. Downton	13	 153		37	 1	 12.75
C. H. Douglas	13	 119		33	 2	 10.81
J. L. Beaumont	11	 90		20*	 1	 9.00

\*Signifies not out.

## FELSTEAD SCHOOL BOWLING.

	Overs	. 1	Iaide	ns	Runs	Wicket	8	Average
C. Murray-Shirreff	93.2		19	0	435	 22		19.77
R. S. Preeston	225.2		33	84.	796	 39		20.41
A. R. Thomas	90.4		7	9.	446	 19		23.47
C. H. Douglas	64.5		2		332	 12		27.66
V. L. G. Davies	73		6	0	347	 9	y	38.55

## FOREST SCHOOL BATTING.

				Most in an			Time	es	
	Innin	gs	Runs		innings	3	not o	ut	Average
A. J. Waugh	20		565		128		3	11.	83.23
G. R. Watson	19		268		66		2		15.76
W. L. Johnson	20		259		78		0		12.95
H. R. Bonsey	19	ā	238		55		0		12.52
D. J. S. Dawson	15	·	127		29		0		8.46
H. C. Henley	17		99		30		4		7.61
C. F. B. Smith	15		66		19*		6		7.33
A. M. Bentin	18				26		I		6.64
R. R. Whitcombe	12		70		20		1		6.36
A. G. Morris	13	8	57		14		2		5.18
R. F. N. Pryke	19		93		22		1		5.16

\* Signifies not out

## FOREST SCHOOL BOWLING.

	Overs	Maidens	Runs	V	Vicket:	S	Average
H. R. Bonsey	282 2	 42	 978		51		19.17
A. J. Waugh		 38	 953		38		25.07
G. R. Watson	113.3	 16	 490		17		28.81
H. C. Henley	50	 3	 276		8		34.50

Public	School	Averages.
--------	--------	-----------

## FRAMLINGHAM SCHOOL BATTING.

				1	Most in	an	Tim	es	
	Innin	Innings			inning	nnings		ut	Average
G. J. Willans	17		698		169		1	613.04	43.62
T. Somerville	.: 17	U4	465		99		1	-	29.06
C. G. Russell	17		446		74		1	1100	27 87
R. E. Lincoln	. 17		233		45		1		14.56
E. H. P. Jolly	. 13		110		31*		5	MYSU	13.75
H. Hoyland	15		173		38	0.00	2	1-6110	13.30
D. O'Callaghan	12		142		28		0	033	11.83
S. May			123		23		2	PLOTO	10.25
A. Somerville			51		13		3	OJ D. AT	8.50
L. LeMay	8		45		15		0	88 110	5.62
V. Stiemens			9		5		1	doing.	1.28

\* Signifies not out.

## FRAMLINGHAM SCHOOL BOWLING.

	Overs	Maiden	3	Runs	V	Vicket	s	Average
C. G. Russell	245	 58		620		48		12.91
V. Stiemens	164	 30	91.	512		38		13.46
G. J. Willans	177	 35		608		43		14.13
R. E. Lincoln	72	10		269		18	8	14.83
H. Hoyland	51	 8		172		11		15.63
E. H. P. Jolly	44	 6	d	204		10		20.40

## GLENALMOND COLLEGE BATTING.

	Most in an Times										
	Innings		Runs		innings		not out	,	Average		
H. W. Malcolm	. 15		256		5;		1		18.28		
G. M. H. Ogilvy	16		255		39		1	2.00	17.66		
V. A. McKillop	. 16		251		66		0		15.68		
S. N. Jenkinson	15		218		38		0		14.53		
A. L. Easton	. 11		138		50		1	vern	13.80		
R. C. Cunningham			170		50		2		13.07		
A. J. Wilson			86		23*		5		12.28		
H. J. Fraser	14		102		15*		5	13100	11.33		
J. D. Bell					40		0		9.78		
L. Miller					20		2		7.83		
H. H. Smith			61				3		6.77		

\*Signifies not out.

## GLENALMOND COLLEGE BOWLING.

	Overs	1	Maide	ns	Runs		Wicket	s	Average
L. Miller	17		4		36		8		4.50
H. J. Fraser	74		25		208		28		7.42
V. A. McKillop	102		30		252	10.0	27		9.33
G. M. H. Ogilvy	32		3		113	HAR.	12		9.41
J. D. Bell			7		79		8		9.87
R. C. Cunningham	150		34		373		35		10.65
H. W. Malcolm	121		22		353	00	27	· Valo	13.07

## HAILEYBURY COLLEGE BATTING.

manaya Average	Inui	ngs	Runs		Most in	-	Times not or	ut	Average
G. N. Bignell	10		526		117		0		
W. G. Heymann	13		511		86		2		
G. H. Rigby	10		376		102		0		
F. Frewer			268		83		0		
I. R. B. Bond	11		201		51*		1		
N. S. Bostock			75		29		2		
R. J. Dibdin	8		76		22		3		
A. Howard			163		37		1		
H. G. Stokes			146		36		0		13.27
J. D. Legge		300	90	INIE!	31		1	•••	11.25
R. Macandrew	9		72		29		0		8.00

\*Signifies not out.

## HAILEYBURY COLLEGE BOWLING.

	Overs	faider	ıs	Runs	Wicke	ets	Average
N. S. Bostock		 9		117	 9		13.00
W. G. Heymann		 59		838	 57		
R. J. Dibdin		 6		158	 10	d Tour	15.80
G. N. Bignell	. 151	 25		493	 20	A9.00	24.65

## HARROW SCHOOL BATTING.

	T	1 1970	D		ost in a	Times		
	Innin	gs	Runs	1	nnings	not ou	t	Average
W. S. Bolton	9		284		64	 0		31.55
F. Forster	10		227		52	 1		25.22
C. S. Rattigan	8		163		63	 1		23.28
R. E. Eiloart	10		172		60	 1	700	19.11
W. A. Humphreys	5		38		14	 3	9000	19.00
R. O. Morris	7		68		21*	 3		17.00
R. E. H. Baily	10		140		72	 1		15.55
M. C. Bird	11		158		51	 0		14.36
J. Reunert	10		111		37	 1		12.33
E. H. Crake	11		135		55	 0		12.27
D. R. Brandt	10		110		53	 0		11.00
C. Reunert	4		1		9	 5		3.00

\*Signifies not out.

## HARROW SCHOOL BOWLING.

							0		
MAG	Overs		Maiden	S	Runs		Wickets	3	Average
C. S. Rattigan	. 132.2		30	TOV	358		25		14:32
C. Reunert			12		185		10		18:50
J. Reunert			42		410	0	21		19.52
R. O. Morris	. 135.2	6	15	1	471		21	richia.	22.42
W. A. Humphreys	. 91.1		21	98	271		11		24.63
R. E. Eiloart	. 64		7	48	254		9		28.22
E. H. Crake	. 33		2		106		8		35.33
W. S. Bolton	. 19		1	38	82		2		

## HIGHGATE SCHOOL BATTING.

In	nings	Runs		st in a	n	Times not ou		Average
			11	0		not ou	U	
A. B. Lushington	11	265		51		0		24.09
	8	156		61		0		19.50
W. C. Honeyball	10	175		73		1		19.44
G. R. Sayer	13	210		73		2		19.09
A. M. Neal	12	145		36*		2		14.50
N. J. Cox	10	94		23*		2		11.75
C. E. Evans	7	66		21*		1	m bo	11.00
A. C. Fendick	9	54		10*		4		10.80
	*Sig	nifies n	ot out.					

## HIGHGATE SCHOOL BOWLING.

	Overs	Maidens	Runs	Wickets		Average
G. R. Sayer	103	 17	 316	 22		14.36
R. C. Sargant	32	 7	 119	 8		14.87
N. J. Cox	128	 31	 360	 20	T.V.	18.00
W. C. Honeyball	95.1	 14	 38	 17	the	19.88
A. C. Fendick	69	 8	 275	 10		21.50
A. B. Lushington	109.2	 14	 387	 15		25.83

## LANCING COLLEGE BATTING.

				M	lost in	an	Times	
In	nings		Runs		innings		not out	Average
C. E. Brisley	14		684		93		0	 48.85
H. C. Greenfield	14		432		110		0	 30.85
L. Stephens	14		252		62*		5	 28.00
R. M. Powell	12		292		59		1	 26.54
C. H. Wade	15		368		84		0	 24.53
B. E. Marhieson	14		331		46		0	23.64
A. C. Greenfield	14		202		46		2	 16.83
C. B. Rubie	13		116		29*		6	 16.57
K. H. Macalaster	12		128		42*		3	 14.22
E. F. Bentley	10		78		22*		2	 9 75
W. H. Chiazzari	13		74	Mrs.	17		1	 6.16
		* Si	gnifles	not or	ıt.			

## LANCING COLLEGE BOWLING.

	Overs	Maidens		Runs		Wickets	Average
E. F. Bentley	28	 1		90	88	6	 15 00
H. C. Greenfield		 62	2	812		52	 15.61
C. H. Wade		 84		472	10	28	 16 85
K. H. Macalaster		1		148		8	 18.50
L. Stephens		 25		384		14	 27.42

## LEYS SCHOOL BATTING.

	Innin	gs	Runs		Most in a	n	Times not ou	t	Average
H. C. Tebbutt	. 24	81	1443	210	154		0		60.12
W. H. Gunton	. 17	30.	370		82*		4		28.46
B. H. Holloway	. 22		460		112*		2		23.00
J. S. Brooksbank	14		137	010	20*		7		19.57
R. T. Rees	. 18	70	272	Q73	65		3		18.13
F. C. Pyman	. 13	*****	168	217	33*		3	8	16.80
H. Hosken		189	283	391	68		4		16.64
V. C. Cook	. 16	22	203	78	28*		2		14.50
L. Calvert			245	83	41		3		14.41
H. H. Scott	. 19	88	210	881	23*		4		14.00
A. S. Cannington		9	74	W	30		0		6.72

## \* Signifies not out.

## LEYS SCHOOL BOWLING.

	Overs	Maiden	S	Runs	Wicket	S	Average
V. C. Cook	231.4	 60		656	 45		14.57
H. C. Tebbutt	365	 57		1222	 72		16.97
W. Lee	88	 22		231	 11		21.00
R. T. Rees	163.5	 31		528	 17		31.05
T. Beckett	46	 3		179	 5		35.80

## MALVERN COLLEGE BATTING.

					Most in a	ın	Times	
I	nnings	3	Runs		innings		not out	Average
A. P. Day	15		880	9	201*		2	 67.69
G. N. Foster	15		727		177*		1	 51.92
F. A. Powell	10		338		109		0	 33.80
H. L. Simms			340		64		2	 28.33
P. J. Aster			131		38		1	 26.20
F. T. Mann			308		62		1	 22.00
E. L. Mellin	14		266		51		1	 20.46
C. H. Bird			109		29		3	 13.62
R. C. Byass			113		30		1	 10 27
N. S. Cornelius	3		20		15		0	 6.66
	12		20		10		5	 2.85
		* Si	gnifies no	ot or	ıt.			

## MALVERN COLLEGE BOWLING.

	Overs	Maidens	Runs	Wickets	Average
C. J. Pearson	131.1	 11	 566	 33	 17.15
G. N. Foster	28.3	 4	 97	 5	 19.40
H. L. Simms	218	 14	 884	 44	 20.09
F. T. Mann	12	 0	 108	 5	 21.60
A. P. Day	162.2	 23	 555	 18	 30.83
R. C. Byass	108	 20	 347	 9	 38.55

15

# MARLBOROUGH COLLEGE BATTING.

			Most in an	Times	
Innir	igs	Runs	innings	not out	Average
H. M. Butterworth 15		512	78	0	
H. J. Goodwin 14		440		ŏ	
A. P. Scott 13	211	405	155		
G. H. Ireland 14	B	419	85		
N. W. Milton 15	88	419		1	
G. C. Phillips 14		212		6	
L. A. N. Slocock 14	19	198		2	
E. L. Goodman 6	20	87		ō	
L. M. Robinson 6	13	69		1	
N. T. White 14	19 11 1291	156		0	
H. C. Burt 4		17		i	

\* Signifies not out.

## MARLBOROUGH COLLEGE BOWLING.

L. M. Robinson	Overs 104.4	506 I	Maidens 18	 Runs 389		ickets	3	Average 16.20
H. J. Goodwin A. P. Scott	94.5		17 24	 385		18		21.38
G. C. Phillips	138.2	1	33	 299 458	30	14 16	.:	21·35 28·62

## MILL HILL SCHOOL BATTING.

					Most in	an	Times		
	nnings	3	Runs		innings	3	not out		Average
D. L. Morgan	14		311		72		1		
H. E. Snell	10		199		70		1		
R. Spicer	13		220		55		2		
H. H. Grindley	12		168	1.	60*		. 3		
N. A. Dore	12		190	18	62		1		
R. E. F. Peill	13		138		51*		5	. 107	
G. S. Brown	12		190	11	43	1	0		
H. Walker	11		156		95	I		. 112	14.18
C. W. Bywaters	11		100		28			pilo	10.11
J. A. Taylor	6		23		20*		3	1108	7.66
M. H. Kemsley			52		29*		1		6.50
		* Si	gnifies r	ot o	ut.				

# MILL HILL SCHOOL BOWLING.

	Overs	]	Maidens	Runs		Wickets		Average
H. Walker	146.5		32	 461	818	24		19.20
R. E. F. Peill	122.1		12	 493	81.	23	. 6	21.43
J. A. Taylor	54		17	 162	41	7		23.14
M. H. Kemsley	87.4		13	 357		15		23.80

## OAKHAM SCHOOL BATTING.

					]	Most in a	es		
		Inning	gs	Runs		innings	not c	out	Average
J. P. Walker		17		399		68	 1		24.93
A. T. Hill		. 17		250		56*	 1		15.62
A. C. Lindley		16		155		33	 2		11.07
G. V. P. Filsel						15	 5		11.00
D. L. G. Willia	ms	17		184	100	29	 0		10.82
F. H. Jerwood		. 15		102	611	18	 3		8.50
D. Mallam		13		105		30	 0		8.07
R. K. Weather	ell	. 16	J	104		19	 0		6.50
C. C. Franckel		12		66		18*	 1		6.00
D. A. Scott .		10		41		9*	 3		5.85
N. A. Skelton									

\* Signifies not out.

## OAKHAM SCHOOL BOWLING.

	Overs	Maide	ns	Runs	Wicke	ts	Average
A. T. Hill	192.4	 33		657	 40		16.42
N. A. Skelton	90.1	 10		348	 20		17.40
A. C. Lindley	234.5	 41		713	 37		19.27
J. P. Walker	41.1	 2		231	 10	lia.	23.10
F. H. Jerwood	67	 11		209	 9		23.22
D. Mallam	71.5	 9		300	 12		25.00

## OUNDLE SCHOOL BATTING.

				N	Iost in a	n	Times	3	
	Inning	gs	Runs	innings		not out		Average	
C. Gimson	10		449		164*		3		64.14
G. V. Adendorff	7		198		69*		2		39.60
W. M. Horsfall	9		264		118		0		29.33
E. J. B. Akerman	6		126		49		1	100	25.20
R. H. Platts	10		158		61		1		17.55
C. A. Armitage	8		115		45		1		16.42
E. S. Williams Ellis	6		54		24*		2		13.50
K. K. Armstrong	9		101		33		0		11.22
W. G. Marsden	4		10		10*		2		5.00
A. J. Goodfellow	5		19		12*		1		4.25
L. W. Shelley	3		11		11		0		3.66

\* Signifies not out.

## OUNDLE SCHOOL BOWLING.

	Overs	Maidens	Runs	Wickets	Average
W. G. Marsden	39	 10	 109	 11	 9.91
G. V. Adendorff	115.1	 19	 339	 34	 9.97
A. J. Goodfellow	81.2	 19	 228	 20	 11.40
C. Gimson	85.4	 14	 261	 22	 11.86

## REPTON SCHOOL BATTING.

				Most in ar	1	Times		
	Innings	Runs		innings		not out		Average
J. N. Crawford	. 16	 759	008.	148		2	705	
R. A. Young	. 17	 630	355	94*		3		45 00
E. A. Greswell	. 15	 360	225.	67		3		30.00
N. V. C. Turner	. 13	 297	99	77		2		27 00
J. Thwaites	. 12	 221	ABE.	49		2	Liv	22.10
C. S. Meyer	. 12	 175	501.	57		0		14.58
C. G. Barnardo	. 11	 154	105	35		0		14.00
F. C. Johnson	. 14	 144	101.	32		1	4.63	11.07
H. A. Birrell	. 11	 91	30	29*		2		10.11
R. C. Parkin	. 12	 83		16*		3		9.22
G. W. Halkett	. 12	 57		19		4		7.12

\* Signifies not out.

## REPTON SCHOOL BOWLING.

I N Comment	Overs	Maidens	Runs	W	ickets	Average
J. N. Crawford		 78	 1117		75	 14.89
G. W. Halkett		 29	 522		27	 19.33
F. C. Johnson	95	 14	 354		17	 20.82
J. Thwaites	32	 3	 122		5	 24.40
E. A. Greswell	172.4	 2.8	 579		23	 25.17

## ROSSALL SCHOOL BATTING.

some T	Innir	ıgs	Runs	Most in	Tim not o	Average
F. H. Mugliston	11		269	 59	 3	 33.62
J. N. G. Johnson	10		239	 128*	 1	 26.55
T. S. Stafford	9		212	 659*	 1	 26.50
A. Peltzer	9		204	 67	 0	 22.66
L. C. Vernon	7		82	 29	 2	 16.40
J. K. Lane	11		144	 49	 2	 16.00
V. Edwards	9		93	 40	 2	 13.28
T. Hudson			76	 47	 0	 12.66
R. C. Cutter	7		55	 28	 2	 11.00
A. E. Herman	5		44	 17	 0	 8 80
R. Powell	7		40	 17	 1	 6.66

\* Signifies not out.

## ROSSALL SCHOOL BOWLING.

	Overs		Runs	7	Vicket	s	Average
F. H. Mugliston	131.4		388		22		17.63
T. S. Stafford	52	01.	226		9		25.11
R. Powell	145.1	0.6	545		20	10.00	27.25
T. Hudson	22	100	130		9	10.00	65:00
R. C. Cutter			175	· · ·	2		87.50

## R.M.C., SANDHURST, BATTING.

					Most in	n an	Tim	es	
	Innin	ngs	Run	S	innin	gs	not o	ut	Average
G. Toynbee .	 9		495		105		2		70.71
A. H. Muir .	 9	05	192		61		2		27.42
G. B. Howell			252		82		0	10	22.90
W. T. Brooks	 9	28	126	40	55		0	10.	14.00
B. M. Kenny.	 9	40	112	304.	53		0	agile;	12.44
F. Atchison .			63		18		2	1	10.50
K. Simsin	 7	11	69	AT	24		0		9.85
G. Middlemas		09	58	21	29		3		9.66
A. C. Bird .	 7		64		37		0		9.14
A. G. White .		02	13	8	10		0	0,041	3.25

## R.M.C., SANDHURST, BOWLING.

	Overs	Maiden	S	Runs	V	Vicket	S	Average
A. G. White	. 51	 7		176		13		13.53
A. H. Muir	. 112	20		384	201.	26		14.76
R. Simsin	. 16	 0		75		5		15.00
W. T. Brooks	. 197	 45	1	446		28		15.92
G. Middlemass	. 52	 8		168	2	8	170.00	21.00

## RUGBY SCHOOL BATTING.

			Most in	an	Times	
	Innings	Runs	Runs innings			Average
T. Bowring	15	382 .	. 101		2	29.38
G. C. Tripp		399 .	. 110		1	28.50
D. C. F. Burton	15	<b>3</b> 50 .	. 83		0	23.33
K. T. Cox	9	169 .	. 76		1	21.12
H. N. P. Sloman	15	299 .	. 52	21.	0	19 93
R. M. Chadwick	16	237 .	. 46		1	15.80
C. E. Ruault	14	170 .	. 36		1	13.07
J. G. Rea	13	165 .	. 40	20.	0	12.69
J. E. Gordon	13	151 .	. 37		0	11.61
F. C. Rowe	12 .	38 .	. 15	o	4	4.75
H. F. Beattie	11 .	29 .	. 17*	8	4	4.14

\* Signifies not out.

## RUGBY SCHOOL BOWLING.

	Overs		Maiden	S	Runs	V	licket	S	Average
R. M. Chadwick	29	BU FI	3	CI.II	123		6		20.50
G. C. Tripp	114.4		5	.88	432		21		20.57
H. F. Beattie			26		422		19	9	22.21
T. Bowring			7	8.8	516		21		24.57
C. E. Ruault			19		587		23		25.52
J. E. Gordon	93.3		12		362		14		25.85
D. C. F. Burton	75.3		- 8	. 63	281		8		35.12

## ST. PAUL'S SCHOOL BATTING.

Times	ga e				Most in a	Times	
Speny A	nning	rs.	Run	;	innings	not out	Average
H. N. Geary	13	30.					
N. E. Farr	6		132	201.	70		
G. C. Smyth	9	28.	165	100-	54	0	18:33
F. W. Bewsher	4	88.	54	001.	32	1	18 00
B. M. Wakeling	13	Eq.	201		69	1	 16 75
C. A. DOILER	13		172		38*	 1	14:33
H. B. Brown	8		77	98	17*	2	
J. Heathcote	4	99	45	231.1-	20	0	
W. A. Johnson	11	10.	98	10.11		2	10.88
V. R. Munton	11	TOTAL	84	11		ō	
C. H. Padsden	7		35		14	2	

\* Signifies not out.

## ST. PAUL'S SCHOOL BOWLING.

107 61	Overs	Maidens	Runs	W	ickets	5.	Average
C. A. Bolter	106.4	 20	 318	MII.	24		13.25
G. C. Smyth	133	 36	 310	01	21		14.76
W. A. Johnson	67	 11	 198	Let.	10		19.80
V. R. Munton	138	 18	 427	26	21	80,00	20.33
B. M. Wakeling	63	 12	 209		10		20.90

## SHERBORNE SCHOOL BATTING.

					Most in	an	Time	S	
I	nnings	3	Runs		inning	S	not or	it	Average
I. Homiray	12		384		86		1	9	34.90
G. L. Cole	14		371	188.	92*		2	00.10	30.91
W. S. Horton	11		231		57		4		33.00
R. W. Jesson	13	80.	246	100	73*	1	3	Tomas	24.60
A. H. Ross	13		294	196 .	82		1	doingb	24 50
E. F. Rawlins	14	08	305	17.	168		- 0	yhu	21.78
E. F. Bond	12	98	222	101	42		1		20.18
D. G. Campbell	7	14.	84	GI.	25		1		14.00
H. G. May	9	41.	67	3	28	1	2		9.57
C. H. Cole	6	71. "	43	3	29*		1	. 5853	8 60
A. R. Gibbs	9		11		5		2		1.57

\* Signifies not out.

## SHERBORNE SCHOOL BOWLING.

	Overs	Runs		Wicke	ts	Average
A. H. Ross		 63		10		6.30
D. G. Campbell	. 37	 82	0.7	6		13.66
E. F. Bond	43	 160		11	7.7	14:54
R. W. Jesson	216	 830		53	1110	15.66
A. R. Gibbs		 517	0.0	25	4 11 15	20.68
E. F. Rawlins		121		5		24.20

## SHREWSBURY SCHOOL BATTING.

sparsey A dec does In	nings	Runs		Most in innings	Times not out	Average
T. P. G. Forman		 346	WI		1	34.60
C. G. Humphreys		 256			0	
S. Foster Jackson		 99		36*	2	19.80
O. P. T. Horlick	13	 211		60		17.58
A. W. Schute	11	 153			1	 15.30
C. M. Finny		 40		16	1	 13.33
H. Forman		 119		41*	1	 11.90
G. Cranstonn	10	 118		42	0	 11.80
T. Harrison	8	 52		23	2	 8.66
F. J. Roberts	10	 57		10*	3	 8.14
V. Leake	9	 31		20*	3	 5.16

\*Signifies not out.

## SHREWSBURY SCHOOL BOWLING.

	Overs	Maide	ns	Runs	Wicke	ts	Average
C. G. Humphrys	237.4	 39		668	 52	.,	12.84
V. G. Leake	104.3	 12		245	 19		12.89
T. Harrison	180.5	 34		478	 29		16.48
H. Forman	27	 0		92	 5		18.40
G. Cranstonn	19.3	 1		79	 3		26.33
F. J. Roberts	34	 3		106	 3		35.33

## TONBRIDGE SCHOOL BATTING.

			Runs	lost in		Time		
		Innings		inning	not out		Average	
N. L. Colley		6.9.	397	 77		1		30.23
C. C. G. Wright	17		428	 91		1		26.75
G. S. Bryan-Brown	16		406	 89		0		25.37
C. F. Sadler	15		352	 84		1		25.14
J. W. Dew			197	 36		3		21.88
A. E. H. Killick	11		197	 37		1	100	19.70
B. W. Pigg	12		83	 30		6		13.83
R. H. L. Cock	12		151	 35		1		13.72
A. C. Houlder	12		121	 34		2		12.10
L. R. A. Shuter	17		176	 50		1		11.00
G. Mc D. Bottome	16		145	 38		1		9.66

\* Signifies not out.

## TONBRIDGE SCHOOL BOWLING.

			-		The second second	The state of the state of		
	Overs	Maiden	S	Runs	V	Vicket	S	Average
B. W. Pigg	251.1	 41		822		52		15.80
C. F. Sadler	54.5	 7		222		12		18.50
G. Mc D. Bottome	60.4	 12	2	104		9		21.55
G. S. Bryan-Brown	36	 3		156	11	6		26.00
R. H. L. Cock	115.4	 27		409		15	1	27.26
C. C. G. Wright	101.5	 6		476		14		34.00

## UPPINGHAM SCHOOL BATTING.

	1	Most in	Times			
I not out Average	Innings	Runs	ar	innings	not out	Average
C. S. Hurst	14	 587			3	
C. Palmer	14	474			1	
C. H. Eiloart	8	 136				
V. Stephens	0				. 1	
T Coming and all	8	 135			1	19.28
J. Swindells	12	 169		45	0	14.08
H. F. P. Hearson	14	 196		42	. 0	14.00
B. A. Johnson	9	 110			1	
L. N. H. Bailey	12	 130			1	
A. R. Wheatley	10	 89				
I C M Laws	10				. 2	
J. C. M. Lowe	11	 93		32	. 2	10.33
J. S. Kennedy	9	 31		9*	5	7.75

\*Signifies not out.

## UPPINGHAM SCHOOL BOWLING.

A Bottler	Overs	N	<b>I</b> aiden	S	Runs	V	Vickets		Average
C. S. Hurst	164		17		541		25		21.64
J. C. M. Lowe			15		487		22		22.13
J. Swindells			18		416		17		24.47
B. A. Johnson	112.4		10		403		16	1803	25.18
J. S. Kennedy	76		10		275		9		30.55

## WESTMINSTER SCHOOL BATTING.

			N	lost in		Times		
	nings.	Runs	an	innings	3	not ou	t	Average
O. H. Walters	18	382		82		0	- 11	21.22
	18	357		69		0		19.83
R. G. Gardner	17	300		94		1		18.75
W. J. W. Bonser	18	285		49		2		17.81
E. W. D. Colt-Williams	13	163		50*		3		16.30
P. T. Rawlings	17	257		64		0		15.11
H. B. Philby	18	200		32		0		11.11
F. S. Fleuret	11	117		32		0	Him	10.63
E. W. Lane-Claypon	11	70		16		1	11.78	7.00
J. K. Hepburn	13	27		12*		8		5.40
	*Sig	nifies no	t out.					

## WESTMINSTER SCHOOL BOWLING.

	Overs	1	Maiden	S	Runs		Wickets	Average
L. G. Kirkpatrick	102	2	8		432	20	26	 16.61
J. K. Hepburn	207.5		47		611		33	 18.51
R. G. Gardner	159	1	22		627		29	 21.62
E.W.D. Colt-Williams	119		10		468		16	 29.25
F. S. Fleuret	99		12	9	484		13	 37.30
P. T. Rawlings	20		2		129		2	 64.50

## WINCHESTER COLLEGE BATTING.

In	nings		Runs	а	Most in		Times not out	Average
E. L. Wright	14		610		122	5~	2	50.83
C. N. Bruce	14	V	489	- Cx	182		4	48.90
H. Teesdale	8		275		77		2	 45.83
J. H. Gordon	13		390		106*		4	 43.33
D. M. Evans	14		456		107*		1	 35.07
W. M. Parker	11		232		58*		2	25.77
H. G. Moore-Gwyn	10		170		36		3	24.28
F. L. Nicolls	5		62		27*		2	20.66
C. F. Younger	5		70		33		1	 17.50
A. V. Morris	10		139		41*		2	 17:37
V. L. B. Sergent	5		78		27		0	 15.60
G. E. Fawcus	4		34		24		1	 11.33

\*Signifies not out.

## WINCHESTER COLLEGE BOWLING.

Advant is at	Overs	M	aidens		Runs	Wickets	Average
C. F. Younger	274.2		68		684	 35	 19:54
V. L. B. Sergent	160		38		454	 22	 20.63
E. L. Wright	28		4		108	 5	 21.60
J. H. Gordon		Med 4	6	12.77	45	 2	 22.50
G. E. Fawcus	35		8		103	 4	 25.75
D. M. Evans	242.5		51		778	 28	 27.78

## FETTES COLLEGE BATTING.

			N	lost in	1	imes		
	nnings	Runs	ar	innings	ne	ot out		Average
G. Turner	20	 1004		176	mo.T	1		52.84
K. G. MacLeod	. 21	 794	40 111	142*	100	î	•••	39.70
J. A. Herriot	20	 456		106*		2	•••	25.33
J. Burt-Marshall	. 19	 298	18000	61*	11100	3		18.62
R. H. B. Lockhart	. 18	287	HERE LA	66		2		17.93
H. Harper	. 16	 195		44		5	13,5	17.72
G. Macdonald	. 15	 108	-	20		7	1000	13.50
T. P. Herriot	21	 234		45		3		13.00
I. C. Innes	9	 68		34	100	2		9.71
J. H. Muir	12	 49	1 13 (14)	15	TIRE!	3	, ill	5.44
H. Russell	7	 19	71.01	6		1		3.16

\* Signifies not out.

## FETTES COLLEGE BOWLING.

	Overs.	M	Taidens	s.	Runs.	w	ickets.	-	verage.
J. H. Muir	192.5		10		712		50		14.24
J. Burt-Marshall	96		23		350		21		16.66
H. Russell			27		418		23		18.17
G. Turner	203		44		669		36		18.58
K. G. MacLeod	184.4		37		613				19.77

1111